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 जब तक आपको यह परीक्षण पुस्तिका खोलने को न कहा जाए तब तक न खोलें  

T.B.C. : FIAS-PTS24_SWCT2                            परीक्षण पुस्तिका अनुक्रम 

क्रम संख्या: 

परीक्षण पुस्तिका 

सामान्य अध्ययन 

प्रश्न-पत्र – I 
 

पूणाांक : 200                                                                                                              समय: दो घंटे 

अनुदेश 

1. परीक्षा प्रारम्भ होने के तुरन्त बाद, आप इस परीक्षण पुस्तिका की पड़ताल अवश्य कर लें कक इसमें कोई 

कबना छपा, फटा या छूटा हुआ पृष्ठ अथवा प्रश्ाांश, आकद न हो। यकद ऐसा है, तो इसे सही परीक्षण पुस्तिका 

से बदल लीकिए।  

2. कृपया ध्यान रखें कक OMR उत्तर-पत्रक में, उकित स्थान पर, रोल नम्बर और पररक्षण पुस्तिका 

अनुक्रम A, B, C या D  को, ध्यान से एवं कबना ककसी िूक या कवसंगकत के भरने और कूटबद्ध करने 

की कजमे्मदारी उम्मीदवार की है। ककसी भी प्रकार की िूक/कवसंगकत की स्तस्थकत में उत्तर -पत्रक 

कनरि कर कदया जाएगा ।  

3. इस परीक्षण पुस्तिका पर साथ में कदए गए कोष्ठक में आपको 

अपना अनुक्रमाांक कलखना है। परीक्षण पुस्तिका पर और कुछ न 

कलखें। 

4. इस परीक्षण पुस्तिका में 100 प्रश्ाांश (प्रश्) हैं। प्रते्यक प्रश्ाांश कहंदी और अंगे्रजी दोनोां में छपा है। प्रते्यक 

प्रश्ाांश में चार प्रतु्यत्तर (उत्तर) कदए गए हैं। इनमें से एक प्रतु्यतर को चुन लें, किसे आप उत्तर-पत्रक पर 

अांककत करना चाहते हैं। यकद आपको ऐसा लगे कक एक से अकिक प्रतु्यत्तर सही हैं, तो उस प्रतु्यत्तर को 

अांककत करें  िो आपको सवोत्तम लगे।  ककसी भी स्तथथकत में, प्रते्यक प्रश्ाांश के कलए केवल एक ही प्रतु्यत्तर 

चुनना है। 

5. आपको अपने सभी प्रतु्यत्तर अलग से कदए गए उत्तर-पत्रक पर ही अांककत करने हैं। उत्तर-पत्रक में कदए गए 

कनदेश देस्तखए। 

6. सभी  प्रश्ाांशोां के अांक सामान हैं। 

7. इससे पहले कक आप परीक्षण पुस्तिका के कवकभन्न प्रश्ाांशोां के प्रतु्यत्तर उत्तर-पत्रक पर अांककत करना शुरू 

करें , आपको प्रवेश प्रमाण-पत्र के साथ पे्रकित अनुदेशोां के अनुसार कुछ कववरण उत्तर-पत्रक में देने हैं।  

8. आप अपने सभी प्रतु्यत्तरोां को उत्तर-पत्रक में भरने के बाद तथा परीक्षा के समापन पर केवल उत्तर-पत्रक 

अिीक्षक को स ांप दें। आपको अपने साथ परीक्षण पुस्तिका ले िाने की अनुमकत है।  

9. कचे्च काम के कलए पत्रक परीक्षण पुस्तिका के अांत में सांलग्न है। 

10. गलत उत्तरो ंके कलए दंड : 

विुकनष्ठ प्रश्न-पत्रो ंमें उम्मीदवार द्वारा कदए गए गलत उत्तरो ंके कलए दंड कदया जाएगा। 

(i) प्रते्यक प्रश् के कलए चार वैकस्तिक उत्तर हैं। उम्मीदवार द्वारा प्रते्यक प्रश् के कलए कदए गए एक गलत उत्तर 

के कलए प्रश् हेतु कनयत ककए गए अांकोां का एक-कतहाई दांड के रूप में काटा िाएगा।  
(ii) यकद कोई उम्मीदवार एक से अकिक उत्तर देता है, तो इसे गलत उत्तर माना िाएगा, यद्यकप कदए गए उत्तरोां 

में से एक उत्तर सही होता है, कफर भी उस प्रश् के कलए उपयुुक्तानुसार ही, उसी तरह का दांड कदया िाएगा। 

(iii) यकद उम्मीदवार द्वारा कोई प्रश् हल नही ां ककया िाता है, अथाुत उम्मीदवार द्वारा उत्तर नही ां कदया िाता है, तो 

उस प्रश् के कलए कोई दांड नही ां कदया िाएगा। 

 

जब तक आपको यह परीक्षण पुस्तिका खोलने को न कहा जाए तब तक न खोलें

A 

https://academy.forumias.com/
mailto:admissions@forumias.academy
mailto:helpdesk@forumias.academy


PTS 2024 | Test Code : 111219 |  

Forum Learning Centre: Delhi - 2nd Floor, IAPL House, 19 Pusa Road, Karol Bagh, New Delhi - 110005   | Patna - 2nd floor, AG Palace, E Boring Canal 

Road, Patna, Bihar 800001   | Hyderabad - 1st & 2nd Floor, SM Plaza, RTC X Rd, Indira Park Road, Jawahar Nagar, Hyderabad, Telangana 500020 
9311740400, 9311740900 | https://academy.forumias.com | admissions@forumias.academy | helpdesk@forumias.academy 

Q.1) Consider the following: 
1.  Falling prices of substitute goods 
2.  Increase in number of consumer 

population 
3.  Prices of Complementary goods decreases 
4.  Anticipation of scarcity of goods in the 

future 
How many of the above situations can lead to 
an increase in the demand for goods in an 
economy?  
a) Only one 
b) Only two 
c) Only three 
d) All four 
 
Q.2) Consider the following pairs: 
Types of Inflation Description 

1. Reflation Rise in prices after an 
economic slowdown 

2. Hyper-
inflation 

Real value of currency 
erodes with rise in 
prices 

3. Skewflation Stagnant economy 
with rising prices 

4. Deflation Decline in prices with 
declining purchasing 
power 

How many of the pairs given above are 
correct?  
a) Only one 
b) Only two 
c) Only three 
d) All four 
 
Q.3) Which of the following are classified as 
Non-Tariff Barriers in international trade? 
1. Quantity Restrictions. 
2. Local Content Requirement. 
3. Sanitary & Phytosanitary Standards. 
4. Antidumping duties. 
Select the correct answer using the code given 
below: 
a) 1, 2 and 3 only 
b) 2, 3 and 4 only 
c) 1, 3 and 4 only 
d) 1, 2, 3 and 4 
 
Q.4) In the context of the Indian economy, 
which of the following options correctly 
describes the term Gross Domestic Product 
(GDP) gap? 

a) Difference between real GDP and Nominal 
GDP 

b) Difference between actual GDP and 
potential GDP 

c) Difference between the GDP and Gross 
National Product (GNP). 

d) Difference between the Net national 
income and GDP. 

 
Q.5) Which of the following best reflects the 
meaning of the term "Orbital Resonance" 
sometimes seen in news? 
a) Two or more planets orbiting the same star 

in the same time period. 
b) Two or more planets having a simple 

numerical ratio between their orbital 
periods. 

c) Planets lining up in a straight line in 
different eclipses as they revolve around 
the same star.  

d) A planet's rotational period matching its 
orbital period.  

 
Q.6) Consider the following statements: 
Statement I: A person can refuse to accept a 
bank cheque for settling a financial 
transaction. 
Statement II: Bank cheques in India are not 
considered as legal tender. 
Which one of the following is correct in 
respect of the above statements? 
a) Both Statement-I and Statement-II are 

correct and Statement-II is the correct 
explanation for Statement-I 

b) Both Statement-I and Statement-II are 
correct and Statement-II is not the 
correct explanation for Statement-I 

c) Statement-I is correct Statement-II is 
incorrect 

d) Statement-I is incorrect Statement-II is 
correct 

 
Q.7) What of the following has the highest 
weightage in Consumer Price Index (CPI) in 
India?  
a) Housing and Utilities 
b) Education and Healthcare 
c) Food and Beverages 
d) Transportation and Communication 
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Q.1) निम्ननिखित पर निचार करें  : 

1. स्थािापन्न िसु्तओ ंकी निरती कीमतें 

2. उपभोक्ता आबादी की सांख्या में वृस्ति 

3. पूरक िसु्तओ ंकी कीमतोां में कमी 

4. भनिष्य में िसु्तओ ंकी कमी की आशंका 

उपरोक्त में से नकतिी खस्थनतयााँ नकसी अथथव्यिस्था में 

िसु्तओ ंकी मांि में िृखि का कारण बि सकती हैं? 

a) केिि एक 

b) केिि दो 

c) केिि तीि 

d) सभी चार 

 

Q.2) निम्ननिखित युग्म पर निचार करें : 

 मुद्रास्फीति के प्रकार तििरण 

1. प्रत्यवस्फीकत 

(Reflation) 

आनथथक मंदी के बाद 

कीमतो ंमें बढोतरी 

2. अकतस्फीकत (Hyper-

inflation) 

कीमतो ंमें िृखि के साथ 

मुद्रा का िास्तनिक मूल्य 

में कमी 

3. थयूफे्लशन 

(Skewflation) 

बढती कीमतो ंके साथ 

खस्थर अथथव्यिस्था 

4. अपस्फीनत 

(Deflation) 

क्रय शखक्त में निरािट के 

साथ कीमतो ंमें निरािट 

ऊपर नदए िए युग्ो ंमें से नकतिे सही हैं? 

a) केिि एक 

b) केिि दो 

c) केिि तीि 

d) सभी चार 

 

Q.3) निम्ननिखित में से नकसे अंतराथष्ट्र ीय व्यापार में िैर-

टैररफ बाधाओ ंके रूप में ििीकृत नकया िया है? 

1. मात्रा प्रनतबंध 

2. स्थािीय सामग्री की आिश्यकता 

3. सेनीटरी और फाईटोसेनीटरी मानक  

4. एंटीडंनपंि डू्यटी 

िीचे नदए िए कोड का उपयोि करके सही उत्तर चुिें: 

a) केिि 1, 2 और 3 

b) केिि 2, 3 और 4 

c) केिि 1, 3 और 4 

d) 1, 2, 3 और 4 

 

Q.4) भारतीय अथथव्यिस्था के संदभथ में, निम्ननिखित में 

से कौि सा निकल्प सकि घरेिू उत्पाद (जीडीपी) अंतर 

शब्द का सही िणथि करता है? 

a) िास्तनिक जीडीपी और नोकमनल जीडीपी के बीच 

अंतर 

b) िास्तनिक जीडीपी और संभानित जीडीपी के बीच 

अंतर 

c) जीडीपी और सकि राष्ट्र ीय उत्पाद (जीएिपी) के 

बीच अंतर। 

d) शुि राष्ट्र ीय आय और सकि घरेिू उत्पाद के बीच 

अंतर. 

 

Q.5) निम्ननिखित में से कौि सा शब्द कभी-कभी 

समाचारो ंमें देिे जािे िािे "ऑनबथटि रेजोिेंस" शब्द के 

अथथ को सबसे अच्छा दशाथता है? 

a)  दो या दो से अनधक ग्रह एक ही समयािनध में एक ही 

तारे की पररक्रमा करते हैं। 

b)  दो या दो से अनधक ग्रहो ंकी उिकी कक्षीय अिनध के 

बीच एक सरि संख्यात्मक अिुपात होता है। 

c)  निनभन्न ग्रहणो ंमें ग्रह एक ही तारे के चारो ंओर घूमते 

हुए एक सीधी रेिा में आ जाते हैं। 

d)  नकसी ग्रह की घूणथि अिनध उसकी कक्षीय अिनध से 

मेि िाती है। 

 

Q.6) निम्ननिखित कथिो ंपर निचार करें : 

कथन I: कोई व्यखक्त नित्तीय िेिदेि के निपटाि के निए 

बैंक चेक स्वीकार करिे से इिकार कर सकता है। 

कथन II: भारत में बैंक चेक को वैि मुद्रा िही ं मािा 

जाता है। 

उपरोक्त कथिो ंके संबंध में निम्ननिखित में से कौि सा 

सही है? 

a) कथि-I और कथि-II दोिो ं सही हैं और कथि-II 

कथि-I की सही व्याख्या है 

b) कथि-I और कथि-II दोिो ं सही हैं और कथि-II, 

कथि-I की सही व्याख्या िही ंहै 

c) कथि-I सही है कथि-II िित है 

d) कथि-I ग़ित है कथि-II सही है 

 

Q.7) भारत में उपभोक्ता मूल्य सूचकांक (CPI) में 

निम्ननिखित में से नकसका भार सबसे अनधक है? 

a) आिास और उपयोनिताएाँ  

b) नशक्षा और स्वास्थ्य सेिा 

c) भोजि और पेय पदाथथ 

d) पररिहि और संचार 
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Q.8) Which of the following is/are released by 
Central Statistics Office (CSO)? 
1. Index of Industrial Production (IIP) 
2. CPI for Industrial workers CPI(IW) 
3. CPI for Agricultural Labourer (AL). 
4. Wholesale Price Index (WPI) 
5. CPI (Rural) 
Choose the correct answer from the option 
given below:  
a) 1 only 
b) 2, 3, and 4 only 
c) 2 and 3 only 
d) 1 and 5 only 
 
Q.9) “It refers to the temporary unemployment 
that occurs when individuals are in the 
process of transitioning between jobs. It is a 
natural and inevitable part of a dynamic labor 
market where people are constantly seeking 
new employment opportunities or moving 
between different positions. It is often a result 
of factors such as job search, relocation, and 
the time it takes for individuals to find a 
suitable job that matches their skills and 
preferences.” 
The above paragraph is talking about:  
a) Structural unemployment 
b) Cyclical unemployment 
c) Frictional unemployment 
d) Seasonal unemployment  
 
Q.10) With reference to Indian Polity, consider 
the following statements regarding Exit polls 
1. It will be conducted any time after the 

announcement of the election date by the 
Election commission of India. 

2. The Representation of people act, 1951, 
governs matters related     to exit polls in 
India. 

3. It can be conducted only by the public 
organizations. 

How many of the statements given above are 
correct? 
a) Only one 
b) Only two 
c) All three 
d) None 
 
Q.11) In the context of international trade and 
economic competitiveness, Consider the 
following statements: 

1. An increasing real effective exchange rate 
(REER) indicates that a country is losing its 
competitive edge. 

2. Real exchange rates adjust the nominal 
exchange rate for differences in price 
levels or inflation rates between the two 
countries' currencies. 

Which of the above given statements is/are 
correct?  
a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) None 
 
Q.12) Consider the following statements with 
regard to the status of the external sector of 
Indian Economy in 2022-23: 
1. India has a trade surplus with the USA. 
2. The United Arab Emirates is India's leading 

export destination.  
3. Mauritius is the largest source of FDI in 

India. 
How many of the statements given above are 
correct?  
a) Only one 
b) Only two 
c) All three 
d) None 
 
Q.13) Consider the following statements with 
regard to the External sector of India: 
Statement-I: India's Non-Sovereign External 
Debt is higher than the Sovereign External 
Debt. 
Statement-II: External commercial 
borrowings are often used in India to help 
Indian companies gain access to overseas 
funds. 
Which one of the following is correct in 
respect of the above statements?  
a) Both Statement-I and Statement-II are 

correct, and Statement-II is the correct 
explanation of Statement-I. 

b) Both Statement-I and Statement-II are 
correct, and Statement-II is not the correct 
explanation of Statement-I. 

c) Statement-I is correct, but Statement-II is 
incorrect. 

d) Statement-I is incorrect, but Statement-II 
is correct. 
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Q.8) निम्ननिखित में से कौि सा/से कें द्रीय सांखख्यकी 

कायाथिय (CSO) द्वारा जारी नकया जाता है? 

1. औद्योनिक उत्पादि सूचकांक (IIP) 

2. औद्योनिक श्रनमको ंके निए CPI (IW) 

3. कृनि श्रनमक (AL) के निए CPI 

4. थोक मूल्य सूचकांक (WPI) 

5. सीपीआई (ग्रामीण) 

िीचे नदए िए निकल्प में से सही उत्तर चुिें: 

a) केिि 1 

b) केिि 2, 3, और 4 

c) केिि 2 और 3 

d) केिि 1 और 5 

 

Q.9) “यह अस्थायी बेरोजिारी को संदनभथत करता है जो 

तब होती है जब व्यखक्त िौकररयो ंके बीच पररितथि की 

प्रनक्रया में होते हैं। यह िनतशीि श्रम बाजार का एक 

स्वाभानिक और अपररहायथ नहस्सा है जहां िोि ििातार 

रोजिार के िए अिसरो ंकी तिाश कर रहे हैं या निनभन्न 

पदो ं के बीच आिे बढ रहे हैं। यह अक्सर िौकरी की 

िोज, स्थािांतरण और व्यखक्तयो ंको उिके कौशि और 

प्राथनमकताओ ं से मेि िािे िािी उपयुक्त िौकरी 

िोजिे में िििे िािे समय जैसे कारको ं का पररणाम 

होता है। 

उपरोक्त अिुचे्छद इस बारे में बात कर रहा है: 

a) संरचिात्मक बेरोजिारी 

b) चक्रीय बेरोजिारी 

c) घिथणात्मक बेरोजिारी 

d) मौसमी बेरोजिारी 

 

Q.10) भारतीय राजिीनत के संदभथ में, एखिट पोि के 

संबंध में निम्ननिखित कथिो ंपर निचार करें  

1. यह भारत नििाथचि आयोि द्वारा चुिाि नतनथ की 

घोिणा के बाद नकसी भी समय प्रारांभ नकया जाता 

है। 

2. िोक प्रनतनिनधत्व अनधनियम, 1951, भारत में एखिट 

पोि से संबंनधत मामिो ंको नियंनित करता है। 

3. इसका संचािि केिि सािथजनिक संिठि ही कर 

सकते हैं। 

ऊपर नदए िए कथिो ंमें से नकतिे सही हैं? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं

 

Q.11) अंतराथष्ट्र ीय व्यापार और आनथथक प्रनतस्पधाथत्मकता 

के संदभथ में, निम्ननिखित कथिो ंपर निचार करें : 

1. बढती िास्तनिक प्रभािी निनिमय दर (आरईईआर) 

इंनित करती है नक कोई देश अपिी प्रनतस्पधाथत्मक 

बढत िो रहा है। 

2. िास्तनिक निनिमय दरें  दोिो ं देशो ं की मुद्राओ ं के 

बीच मूल्य स्तर या मुद्रास्फीनत दर में अंतर के निए 

नोकमनल निनिमय दर को समायोनजत करती हैं। 

ऊपर नदए िए कथिो ंमें से कौि सा/से सही है/हैं? 

a) केिि 1 

b) केिि 2 

c) 1 और 2 दोिो ं

d) कोई िही ं

 

Q.12) 2022-23 में भारतीय अथथव्यिस्था के बाहरी के्षि 

की खस्थनत के संबंध में निम्ननिखित कथिो ं पर निचार 

करें : 

1. भारत का संयुक्त राज्य अमेररका के साथ व्यापार 

अनधशेि है। 

2. संयुक्त अरब अमीरात भारत का प्रमुि नियाथत िंतव्य 

है। 

3. मॉरीशस भारत में एफडीआई का सबसे बडा स्रोत 

है। 

ऊपर नदए िए कथिो ंमें से नकतिे सही हैं? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं

 

Q.13) भारत के बाहरी के्षि के संबंध में निम्ननिखित 

कथिो ंपर निचार करें : 

कथन-I: भारत का िैर-सावरन बाह्य ऋण, सावरन बाह्य 

ऋण से अनधक है। 

कथन-II: भारतीय कंपनियो ंको निदेशी फंड तक पहंुच 

प्राप्त करिे में मदद करिे के निए भारत में अक्सर 

बाहरी िानणखज्यक उधार का उपयोि नकया जाता है। 

उपरोक्त कथिो ंके संबंध में निम्ननिखित में से कौि सा 

सही है? 

a)  कथि-I और कथि-II दोिो ं सही हैं, और कथि-II 

कथि-I की सही व्याख्या है। 

b)  कथि-I और कथि-II दोिो ं सही हैं, और कथि-II 

कथि-I की सही व्याख्या िही ंहै। 

c)  कथि-I सही है, िेनकि कथि-II िित है। 

d)  कथि-I िित है, िेनकि कथि-II सही है। 
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Q.14) Consider the following   
1. Reduction in the remittances received 

from abroad. 
2. Narrowing of current account deficit. 
3. Increase in country's exports. 
How many of the above can be the 
consequences of the depreciation of the 
Indian currency?  
a) Only one 
b) Only two 
c) All three 
d) None 
 
Q.15) The recent eruption of the 2,891-meter 
high ‘Marapi volcano’ in West Sumatra 
resulted in the death of nearly 22 people. In 
this context, consider the following 
statements: 
Statement-I: The recent eruption was caused 
by a buildup of pressure due to the movement 
of tectonic plates. 
Statement-II: Marapi lies in the zone of 
transform boundary where plates move 
sideways past one another.  
Which one of the following is correct in 
respect of the above statements? 
a) Both Statement-I and Statement-II are 

correct and Statement-II is the correct 
explanation for Statement-I. 

b) Both Statement-I and Statement-II are 
correct and Statement-II is not the correct 
explanation for Statement-I. 

c) Statement-1 is correct Statement-II is 
incorrect. 

d) Statement-1 is incorrect but Statement-II is 
correct. 

 
Q.16) Consider the following statements about 
Free Trade Agreements (FTAs): 
Statement I: FTAs may result in unequal 
benefits among participating countries, 
favoring larger economies over smaller ones.  
Statement II: FTAs facilitate economic 
globalization by promoting cross-border trade 
and investment. 
Which one of the following is correct in 
respect of the above statements?  
a) Both Statement-I and Statement-II are 

correct, and Statement-II is the correct 
explanation of Statement-I 

b) Both Statement-I and Statement-II are 
correct, and Statement-II is not the correct 
explanation of Statement-I 

c) Statement-I is correct, but Statement-II is 
incorrect 

d) Statement-I is incorrect, but Statement-II 
is correct 

 
Q.17) Consider the following statements with 
regard to the PM SVANidhi Scheme: 
1. It is a central sector scheme, launched by 

the Ministry of Housing and Urban Affairs. 
2. It provides collateral-free loans to the 

street vendors. 
3. If the loan is repaid on time or early, an 

interest subsidy will be transferred to 
borrowers' bank accounts. 

How many of the above statements are 
correct?  
a) Only one 
b) Only two 
c) All three 
d) None 
 
Q.18) With reference to certification systems 
for organic products in India, consider the 
following statements about the National 
Programme for Organic Production (NPOP) 
and Participatory Guarantee System for India 
(PGS-India):  
1. NPOP targets large-scale producers and 

exporters, while PGS focuses on small-
scale producers and local markets. 

2. NPOP was launched by the Ministry of 
Agriculture and Farmers Welfare while 
PGS-India was launched by the Ministry of 
Commerce and Industry   

Which of the statements given above is/are 
correct? 
a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2  
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Q.14) निम्ननिखित पर निचार करें  

1. निदेश से प्राप्त धि में कमी 

2. चािू िाता घाटा में कमी 

3. देश के नियाथत में िृखि 

उपरोक्त में से नकतिे पररणाम भारतीय मुद्रा के 

अिमूल्यि के हो सकते हैं? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं

 

Q.15) हाि ही में पनिम सुमािा में 2,891 मीटर ऊंचे ' 

मारापी ज्वािामुिी' के निस्फोट से ििभि 22 िोिो ंकी 

मौत हो िई। इस संदभथ में निम्ननिखित कथिो ंपर निचार 

करें : 

कथन-I: हानिया निस्फोट टेक्टोनिक पे्लटो ंकी िनत से 

दबाि के निमाथण के कारण हुआ था। 

कथन-II: मरापी पररितथि सीमा के के्षि में खस्थत है जहां 

पे्लटें एक दूसरे से आिे की ओर गकत करती हैं। 

उपरोक्त कथिो ंके संबंध में निम्ननिखित में से कौि सा 

सही है? 

a)  कथि-I और कथि-II दोिो ं सही हैं और कथि-II 

कथि-I की सही व्याख्या है। 

b)  कथि-I और कथि-II दोिो ं सही हैं और कथि-II 

कथि-I के निए सही व्याख्या िही ंहै। 

c)  कथि-1 सही है। कथि-2 िित है। 

d)  कथि-1 िित है िेनकि कथि-II सही है। 

 

Q.16) मुक्त व्यापार समझौतो ं (FTA) के बारे में 

निम्ननिखित कथिो ंपर निचार करें : 

कथन I: FTA के अांतगुत िािे देशो ं के बीच असमाि 

िाभ हो सकता है, नजससे छोटी अथथव्यिस्थाओ ं की 

तुििा में बडी अथथव्यिस्थाओ ंको फायदा होिा। 

कथन II: FTA सीमा पार व्यापार और नििेश को बढािा 

देकर आनथथक िैश्वीकरण की सुनिधा प्रदाि करते हैं। 

उपरोक्त कथिो ंके संबंध में निम्ननिखित में से कौि सा 

सही है? 

a)  कथि-I और कथि-II दोिो ं सही हैं, और कथि-II 

कथि-I की सही व्याख्या है 

b)  कथि-I और कथि-II दोिो ं सही हैं, और कथि-II 

कथि-I की सही व्याख्या िही ंहै 

c)  कथि-I सही है, िेनकि कथि-II िित है 

d)  कथि-I िित है, िेनकि कथि-II सही है 

Q.17) पीएम स्वनिनध योजिा के संबंध में निम्ननिखित 

कथिो ंपर निचार करें  : 

1. यह एक कें द्रीय के्षि की योजिा है, जो आिास और 

शहरी मामिो ंके मंिािय द्वारा शुरू की िई है। 

2. यह रेहडी-पटरी िािो ं को संपानश्वथक-मुक्त ऋण 

प्रदाि करता है। 

3. यनद ऋण समय पर या जल्दी चुकाया जाता है, तो 

ब्याज सखिडी उधारकताथओ ं के बैंक िातो ं में 

स्थािांतररत कर दी जाएिी। 

उपरोक्त में से नकतिे कथि सही हैं? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं

 

Q.18) भारत में जैनिक उत्पादो ं के निए प्रमाणि 

प्रणानियो ंके संदभथ में, राष्ट्र ीय जैनिक उत्पादि कायथक्रम 

(NPOP) और भारत के निए भािीदारी िारंटी प्रणािी 

(पीजीएस-इंनडया) के बारे में निम्ननिखित कथिो ं पर 

निचार करें : 

1. NPO बडे पैमािे के उत्पादको ं और नियाथतको ं को 

िनक्षत करता है, जबनक पीजीएस छोटे पैमािे के 

उत्पादको ं और स्थािीय बाजारो ं पर ध्याि कें नद्रत 

करता है। 

2. NPOP को कृनि और नकसाि कल्याण मंिािय द्वारा 

िॉन्च नकया िया था जबनक पीजीएस-इंनडया को 

िानणज्य और उद्योि मंिािय द्वारा िॉन्च नकया िया 

था 

ऊपर नदए िए कथिो ंमें से कौि सा/से सही है/हैं? 

a) केिि 1 

b) केिि 2 

c) 1 और 2 दोिो ं

d) ि 1 ि 2 
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Q.19) With reference to the Svamitva Scheme, 
which of the following options is correct?  
a) It is a Centrally Sponsored Scheme. 
b) Its goal is to provide the 'Record of Rights' 

to urban household owners. 
c) The Ministry of Housing and Urban Affairs 

launched it. 
d) Geo-tagging technology, along with 

drones, is used to create geo-referenced 
maps of land parcels. 

 
 Q.20) “This dance is a ritualistic and 
devotional dance, widely performed in India, 
particularly in Gujarat. It is performed 
commonly during the nine days of Navaratri 
festival. Dancers move in a counterclockwise 
circle, using simple movements while singing 
and clapping hands in unison. It was recently 
added to the United Nations Educational, 
Scientific and Cultural Organization 
(UNESCO)’s Intangible Cultural Heritage of 
Humanity.”  
Which among the following dances is 
described in this passage? 
a) Tippani dance 
b) Dandiya dance 
c) Bhavai dance 
d) Garba dance 
 
Q.21) With reference to Atmanirbhar Bharat 
Rozgar yojana, which of the following 
statement is incorrect?  
a) It aims to reduce the financial burden on 

employers in various sectors/industries 
and encourages increased hiring. 

b) The Employees Provident Fund 
Organization (EPFO) is the Implementing 
Agency. 

c) Benefits are extended to every 
establishment registered with EPFO and 
every new employee. 

d) Registration with EPFO is mandatory to 
access the scheme's benefits. 

 
Q.22) Consider the following pairs:  
Type of Goods Example 
1. Giffen Good Rice 
2. Inferior Good Coarse cereals 
3. Complementary Good Tea and sugar 
How many of the above pairs are correctly 
matched? 
a) Only one pair 

b) Only two pairs 
c) All three pairs 
d) None 
 
Q.23) With reference to the money supply in 
an economy, consider the following 
statements:  
1. An increase in money supply typically 

leads to lower interest rates. 
2. An increase in money supply has the 

potential to cause inflation. 
3. An increase in money supply can result in 

the depreciation of the domestic currency. 
4. An increase in money supply will 

undoubtedly lead to higher employment 
levels.  

How many of the statements given above are 
correct? 
a) Only one 
b) Only two 
c) Only three 
d) All four 
 
Q.24) As per a recent report, the Gini 
coefficient of India has dropped from 0.472 in 
2014-15 to 0.402 in 2022-23. What does that 
indicate? 
a)  The emission intensity of GDP is 

decreasing in India 
b)  Income inequality is decreasing in India. 
c)  The emission intensity of GDP is increasing 

in India. 
d)  Income inequality is increasing in India. 
 
Q.25) Consider the following statements 
regarding the Committee on Ethics in 
Parliament: 
1. It     exists within the Lok Sabha but Rajya 

Sabha has no such committee.  
2. Any person can file a complaint about a 

Member of Parliament (MP)’s unethical 
behavior with this committee. 

3. Its recommendations are binding on the 
House and can lead to expulsion of the 
member. 

How many of the statements given above are 
correct? 
a) Only one 
b) Only two 
c) All three 
d) None 
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Q.19) स्वानमत्व योजिा के संदभथ में, निम्ननिखित में से 

कौि सा निकल्प सही है? 

a) यह एक केन्द्र प्रायोनजत योजिा है। 

b) इसका लक्ष्य शहरी पररवार के माकलकोां को 

'अकिकारोां का ररकॉडु' प्रदान करना है। 

c) आिास और शहरी मामिो ंके मंिािय िे इसे िॉन्च 

नकया। 

d) भू-िंडो ंके भू-संदनभथत मािनचि बिािे के निए डर ोि 

के साथ-साथ भू-टैनिंि तकिीक का उपयोि नकया 

जाता है। 

 

Q.20) “यह िृत्य एक अिुष्ठानिक और भखक्तपूणथ िृत्य है, 

जो भारत में, निशेिकर िुजरात में व्यापक रूप से नकया 

जाता है। यह आमतौर पर ििरानि उत्सि के िौ नदिो ंके 

दौराि नकया जाता है। ितथक िाते समय और एक स्वर में 

तािी बजाते हुए, िीमी िनत का उपयोि करते हुए, 

िामाितथ िृत्त में चिते हैं। इसे हाि ही में संयुक्त राष्ट्र  

शैनक्षक, िैज्ञानिक और सांसृ्कनतक संिठि (यूिेस्को) की 

माििता की अमूतथ सांसृ्कनतक निरासत में जोडा िया 

था। 

इस पररचे्छद में निम्ननिखित में से नकस िृत्य का िणथि 

नकया िया है? 

a) नतप्पिी िृत्य 

b) डांनडया िृत्य 

c) भिई िृत्य 

d) िरबा िृत्य 

 

Q.21) आत्मनिभथर भारत रोजिार योजिा के संदभथ में , 

निम्ननिखित में से कौि सा कथि गलि है ?  

a) इसका उदे्दश्य निनभन्न के्षिो/ंउद्योिो ं में नियोक्ताओ ं

पर नित्तीय बोझ को कम करिा और बढती 

नियुखक्तयो ंको प्रोत्सानहत करिा है। 

b) कमथचारी भनिष्य निनध संिठि (EPFO) कायाथन्वयि 

एजेंसी है। 

c) EPFO के साथ पंजीकृत प्रते्यक प्रनतष्ठाि और प्रते्यक 

िए कमथचारी को िाभ नदया जाता है। 

d) योजिा का िाभ पािे के निए EPFO के साथ 

पंजीकरण अनििायथ है। 

 

Q.22) निम्ननिखित युग्म पर निचार करें : 

सामान का प्रकार उदाहरण 

1. निफेि विु (Giffen 

Good) 

चािि 

2. हीन विु (Inferior Good) मोटे अिाज 

3. पूरक विु 

(Complementary Good) 

चाय और चीिी 

उपरोक्त में से नकतिे युग्म सही सुमेनित हैं? 

a) केिि एक युग्म 

b) केिि दो युग्म 

c) तीिो ंयुग्म 

d) कोई िही ं

 

Q.23) नकसी अथथव्यिस्था में मुद्रा आपूनतथ के संदभथ में, 

निम्ननिखित कथिो ंपर निचार करें : 

1. मुद्रा आपूनतथ में िृखि से आम तौर पर ब्याज दरें  कम 

होती हैं। 

2. मुद्रा आपूनतथ में िृखि से मुद्रास्फीनत पैदा होिे की 

संभाििा है। 

3. मुद्रा आपूनतथ में िृखि के पररणामस्वरूप घरेिू मुद्रा 

का अवमूल्यन हो सकता है। 

4. धि आपूनतथ में िृखि निसं्सदेह उच्च रोजिार स्तर को 

जन्म देती है। 

ऊपर नदए िए कथिो ंमें से नकतिे सही हैं? 

a) केिि एक 

b) नसफथ  दो 

c) केिि तीि 

d) सभी चार 

 

Q.24) एक हानिया ररपोटथ के अिुसार, भारत का नििी 

िुणांक 2014-15 में 0.472 से निरकर 2022-23 में 

0.402 हो िया है। िह क्या दशाथता है? 

a)  भारत में जीडीपी की स्राव तीव्रता कम हो रही है 

b)  भारत में आय असमािता कम हो रही है। 

c)  भारत में सकि घरेिू उत्पाद की स्राव तीव्रता बढ 

रही है। 

d)  भारत में आय असमािता बढ रही है। 

 

Q.25) संसद में िैनतकता सनमनत के संबंध में 

निम्ननिखित कथिो ंपर निचार करें : 

1. यह िोकसभा के भीतर मौजूद है िेनकि राज्यसभा 

में ऐसी कोई सनमनत िही ंहै। 

2. कोई भी व्यखक्त नकसी सांसद के अिैनतक व्यिहार 

की नशकायत इस सनमनत से कर सकता है। 

3. इसकी नसफाररशें सदि के निए बाध्यकारी हैं और 

इससे सदस्य को निष्कानसत नकया जा सकता है। 

ऊपर नदए िए कथिो ंमें से नकतिे सही हैं? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं
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Q.26) “The curve hypothesizes that 
industrializing nations experience a rise and 
subsequent decline in income inequality. The 
rise in inequality occurs after rural labor 
migrates to urban areas and becomes socially 
mobile. After a certain income level is reached, 
inequality declines as a welfare state takes 
hold.”  
The above given information is related to 
which of the following curves?  
a) Kuznets curve 
b) Lorenz curve 
c) Phillips curve 
d) Laffer curve 
 
Q.27) In the context of Indian economy, 
consider the following statements about the 
Payment Banks: 
Statement I: They are not required to 
maintain a statutory liquidity ratio (SLR). 
Statement II: They cannot issue loans to the 
customers 
Which one of the following is correct in 
respect of the above statements? 
a)  Both Statement-I and Statement-II are 

correct and Statement-II is the correct 
explanation for Statement-I 

b)  Both Statement-I and Statement-II are 
correct and Statement-II is not the correct 
explanation for Statement-I 

c)  Statement-I is correct Statement-II is 
incorrect 

d)  Statement-I is incorrect Statement-II is 
correct 

 
Q.28) In the context of Indian economy, which 
of the following correctly explains the debt 
service ratio? 
a)  The ratio between total debt and total 

assets. 
b)  The ratio between net operating income 

and debt payments. 
c)  The ratio between interest payments and 

total debt. 
d)  The ratio between debt and company’s 

equity. 
 
Q.29) Consider the following actions: 
1. Devaluation of Indian Currency. 
2. Promoting schemes like Production 

Linked Incentive Scheme 

3. Lowering import duty on non-essential 
items like gold. 

How many of the above actions may help the 
government to address the issue of negative 
balance of payments (BoP)?  
a) Only one  
b) Only two 
c) All three 
d) None 
 
Q.30) Consider the following statements 
regarding the International Debt Report: 
1. It is published by the International 

Monetary Fund (IMF). 
2. The report presents debt-related 

information for low and middle-income 
countries only. 

3. It indicates that India’s external debt has 
been increasing consistently over past 
decade from 2012 to 2022. 

How many of the above statements are 
correct?  
a) Only one  
b) Only two  
c) All three  
d) None 
 
Q.31) Arrange the following taxes/duties in a 
descending order as per their contribution to 
the total revenue of union government in 
2023-24: 
1. Income tax 
2. Customs duty 
3. Goods and Services Tax 
4. Corporation tax  
Select the correct answer from the code given 
below:  
a) 3-4-1-2 
b) 3-1-2-4 
c) 1-3-4-2 
d) 1-3-2-4 
 
Q.32) Consider the following   
1. Sale of Treasury bills. 
2. Disinvestments of Public Sector Units. 
3. Grants made to state government. 
4. Interest on loans. 
How many of the above are included in the 
capital budget of the union government?  
a) Only one 
b) Only two 
c) Only three 
d) All four 
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Q.26) “िक्र यह पररकल्पिा करता है नक 

औद्योनिकीकरण करिे िािे राष्ट्र  आय असमािता में 

िृखि और उसके बाद निरािट का अिुभि करते हैं। 

असमािता में िृखि ग्रामीण श्रनमको ं के शहरी के्षिो ं में 

स्थािांतररत होिे और सामानजक रूप से िनतशीि हो 

जािे के बाद होती है। एक निनित आय स्तर तक पहंुचिे 

के बाद, कल्याणकारी राज्य स्थानपत होिे पर असमािता 

कम हो जाती है। 

उपरोक्त दी िई जािकारी निम्ननिखित में से नकस िक्र 

से संबंनधत है? 

a) कुज़िेट्स िक्र 

b) िॉरेन्जज़ िक्र 

c) नफनिप्स िक्र 

d) िाफर िक्र 

 

Q.27) भारतीय अथथव्यिस्था के संदभथ में, भुिताि बैंको ं

के बारे में निम्ननिखित कथिो ंपर निचार करें : 

कथन I: उन्हें िैधानिक तरिता अिुपात (SLR) बिाए 

रििे की आिश्यकता िही ंहै। 

कथन II: िे ग्राहको ंको ऋण जारी िही ंकर सकते 

उपरोक्त कथिो ंके संबंध में निम्ननिखित में से कौि सा 

सही है? 

a)  कथि-I और कथि-II दोिो ं सही हैं और कथि-II, 

कथि-I की सही व्याख्या है 

b)  कथि-I और कथि-II दोिो ं सही हैं और कथि-II, 

कथि-I के निए सही व्याख्या िही ंहै 

c)  कथि-I सही है कथि-II िित है 

d)  कथि-I िित है कथि-II सही है 

 

Q.28) भारतीय अथथव्यिस्था के संदभथ में, निम्ननिखित में 

से कौि ऋण सेिा अिुपात की सही व्याख्या करता है? 

a)  कुि ऋण और कुि संपनत्त के बीच का अिुपात। 

b)  शुि पररचािि आय और ऋण भुिताि के बीच का 

अिुपात। 

c)  ब्याज भुिताि और कुि ऋण के बीच का अिुपात। 

d)  ऋण और कंपिी की इखिटी के बीच का अिुपात। 

 

Q.29) निम्ननिखित कायों पर निचार करें : 

1. भारतीय मुद्रा का अिमूल्यि 

2. प्रोडक्शि निंक्ड इंसेंनटि स्कीम जैसी योजिाओ ंको 

बढािा देिा 

3. सोिे जैसी िैर-जरूरी िसु्तओ ंपर आयात शुल्क कम 

करिा। 

उपरोक्त में से नकतिी कारथिाइयां सरकार को नेगेकटव 

बलेंस ऑफ़ पेमेंट (BOP) के मुदे्द को हि करिे में मदद 

कर सकती हैं? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं

 

Q.30) अंतराथष्ट्र ीय ऋण ररपोटथ के संबंध में निम्ननिखित 

कथिो ंपर निचार करें : 

1. इसे अंतराथष्ट्र ीय मुद्रा कोि (IMF) द्वारा प्रकानशत 

नकया जाता है। 

2. ररपोटथ केिि निम्न और मध्यम आय िािे देशो ं के 

निए ऋण संबंधी जािकारी प्रसु्तत करती है। 

3. यह इंनित करता है नक भारत का निदेशी ऋण 

नपछिे एक दशक में 2012 से 2022 तक ििातार 

बढ रहा है। 

उपरोक्त में से नकतिे कथि सही हैं? 

a) केिि एक 

b) नसफथ  दो 

c) सभी तीि 

d) कोई िही ं

 

Q.31) 2023-24 में कें द्र सरकार के कुि राजस्व में 

उिके योिदाि के अिुसार निम्ननिखित करो/ंशुल्को ंको 

घटते क्रम में व्यिखस्थत करें : 

1. आयकर 

2. सीमा शुल्क 

3. िसु्त एिं सेिा कर 

4. नििम कर 

िीचे नदए िए कोड से सही उत्तर चुिें: 

a) 3-4-1-2 

b) 3-1-2-4 

c) 1-3-4-2 

d) 1-3-2-4 

 

Q.32) निम्ननिखित पर निचार करें  

1. टर ेजरी नबिो ंकी नबक्री 

2. सािथजनिक के्षि की इकाइयो ंका निनििेश 

3. राज्य सरकार को नदया िया अिुदाि। 

4. ऋण पर ब्याज 

उपरोक्त में से नकतिे संघ सरकार के पंूजीित बजट में 

शानमि हैं? 

a) केिि एक 

b) केिि दो 

c) केिि तीि 

d) सभी चार 
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Q.33) In the context of India economy, which 
one of the following actions most likely to be 
taken by the Government to reduce the 
budget deficit?  
a) Devaluation of the Indian rupee to 

encourage exports. 
b) Buying government securities from the 

people. 
c) Rationalising the allocation of subsidies. 
d) Rolling out new welfare schemes to 

enhance societal well-being. 
 
Q.34) Consider the following statements with 
regard to the Fair and Remunerative Price 
(FRP): 
1. It is determined on the recommendation 

of the Commission for Agricultural Costs 
and Prices. 

2. It is the price paid by the government for 
the procurement of Sugarcane. 

3. Currently, FRP does not have any statutory 
backup. 

How many of the above statements are 
correct?  
a) Only one 
b) Only two 
c) All three 
d) None 
 
Q.35) Consider the following statements 
regarding the ‘the Global Partnership on 
Artificial Intelligence (GPAI)’: 
1. India is one of the founding members of 

GPAI. 
2. India holds the distinction of hosting all 

the GPAI summits.   
3. The United Nations Economic and Social 

Council (ECOSOC) serves as a permanent 
observer to GPAI's governing bodies 

How many of the statements given above are 
correct? 
a) Only one 
b) Only two 
c) All three 
d) None 
 
Q.36) Consider the following agricultural 
products: 
1. Maize  
2. Sunflower seed 
3. Raw jute 
4. Copra 

5. Niger seed 
6. Sesamum 
Government announces minimum support 
price (MSP) for how many of the above 
products? 
a) Only three 
b) Only four 
c) Only five 
d) All six 
 
Q.37) Consider the following statements: 
Statement I: Direct monetization of fiscal 
deficit was completely prohibited in India in 
2017. 
Statement II: In 2017, the Fiscal Responsibility 
and Budget Management Act was amended. 
Which one of the following is correct in 
respect of the above statements? 
a) Both Statement-I and Statement-II are 

correct and Statement-II is the correct 
explanation for Statement-I 

b) Both Statement-I and Statement-II are 
correct and Statement-II is not the correct 
explanation for Statement-I 

c) Statement-I is correct Statement-II is 
incorrect 

d) Statement-I is incorrect Statement-II is 
correct 

 
Q.38)  The policy of Helicopter money is most 
likely to undertaken when: 
a) there are severe deflationary conditions in 

the economy 
b) unemployment rates increase to 

unconventional levels. 
c) the inflation levels are high in an economy 
d) the income inequalities in the economy are 

very high. 
 
Q.39) With reference to Money multiplier in 
the economy, consider the following 
statements: 
1. It refers to the amount of money in the 

economy directly controlled by the central 
bank. 

2. It exhibits an inverse relationship with the 
Cash Reserve Ratio (CRR). 

Which of the statements above is correct? 
a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2 
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Q.33) भारत की अथथव्यिस्था के संदभथ में, बजट घाटे 

को कम करिे के निए सरकार द्वारा निम्ननिखित में से 

कौि सा कदम उठाए जािे की सबसे अनधक संभाििा 

है? 

a)  नियाथत को प्रोत्सानहत करिे के निए भारतीय रुपये 

का अिमूल्यि। 

b)  िोिो ंसे सरकारी प्रनतभूनतयााँ िरीदिा। 

c)  सखिडी के आिंटि को तकथ संित बिािा। 

d)  सामानजक कल्याण को बढािे के निए िई 

कल्याणकारी योजिाएं शुरू करिा। 

 

Q.34) उनचत और िाभकारी मूल्य (FRP) के संबंध में 

निम्ननिखित कथिो ंपर निचार करें : 

1. यह कृनि िाित और मूल्य आयोि की नसफाररश पर 

निधाथररत नकया जाता है। 

2. यह िने्न की िरीद के निए सरकार द्वारा भुिताि की 

जािे िािी कीमत है। 

3. ितथमाि में, FRP के पास कोई िैधानिक बैकअप िही ं

है। 

उपरोक्त में से नकतिे कथि सही हैं?  

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं

 

Q.35) 'आनटथनफनशयि इंटेनिजेंस पर िैनश्वक साझेदारी 

(GPAI)' के संबंध में निम्ननिखित कथिो ंपर निचार करें : 

1. भारत GPAI के संस्थापक सदस्यो ंमें से एक है। 

2. भारत को सभी GPAI नशिर समे्मििो ंकी मेजबािी 

करिे का िौरि प्राप्त है। 

3. संयुक्त राष्ट्र  आनथथक और सामानजक पररिद 

(ईसीओएसओसी) जीपीएआई के शासी निकायो ं के 

निए एक स्थायी पयथिेक्षक के रूप में कायथ करती है 

ऊपर नदए िए कथिो ंमें से नकतिे सही हैं? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं

 

Q.36) निम्ननिखित कृनि उत्पादो ंपर निचार करें : 

1. मक्का 

2. सूरजमुिी के बीज 

3. कच्चा जूट 

4. िोपरा (Copra) 

5. िाइजर बीज 

6. नति (Sesamum) 

सरकार उपरोक्त में से नकतिे उत्पादो ंके निए नू्यितम 

समथथि मूल्य (MSP) की घोिणा करती है? 

a) केिि तीि 

b) केिि चार 

c) केिि पााँच 

d) सभी छह 

 

Q.37) निम्ननिखित कथिो ंपर निचार करें : 

कथन I: 2017 में भारत में राजकोिीय घाटे का प्रत्यक्ष 

मुद्रीकरण पूरी तरह से निनिि था। 

कथन II: 2017 में, राजकोिीय उत्तरदानयत्व और बजट 

प्रबंधि अनधनियम में संशोधि नकया िया था। 

उपरोक्त कथिो ंके संबंध में निम्ननिखित में से कौि सा 

सही है? 

a)  कथि-I और कथि-II दोिो ं सही हैं और कथि-II 

कथि-I का सही व्याख्या है। 

b)  कथि-I और कथि-II दोिो ं सही हैं और कथि-II, 

कथि-I के निए सही व्याख्या िही ंहै। 

c)  कथि-I सही है कथि-II िित है। 

d)  कथि-I िित है कथि-II सही है। 

 

Q.38) हेिीकॉप्टर मिी की िीनत सबसे अनधक तब शुरू 

की जाती है जब: 

a) अथथव्यिस्था में िंभीर अपस्फीनत की खस्थनतयााँ हैं 

b) बेरोजिारी दर अपरंपराित स्तर तक बढ जाती है। 

c) नकसी अथथव्यिस्था में मुद्रास्फीनत का स्तर ऊंचा है 

d) अथथव्यिस्था में आय असमािताएं बहुत अनधक हैं। 

 

Q.39) अथथव्यिस्था में मुद्रा िुणक (Money 

Multiplier) के संदभथ में, निम्ननिखित कथिो ंपर निचार 

करें : 

1.  यह अथथव्यिस्था में सीधे कें द्रीय बैंक द्वारा नियंनित 

धि की मािा को संदनभथत करता है। 

2.  यह िकद आरनक्षत अिुपात (CRR) के साथ निपरीत 

संबंध प्रदनशथत करता है। 

उपरोक्त में से कौि सा कथि सही है? 

a) केिि 1 

b) केिि 2 

c) 1 और 2 दोिो ं

d) ि तो 1 और ि ही 2 
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Q.40) Consider the following statements about 
the Green Rising Initiative:  
1. It is an initiative of the United Nations 

Environment Programme (UNEP).   
2. It aims to afforest at least half of the 

Sahara region of Africa by 2025.  
3. It brings together government, civil 

society organization and private sectors to 
elevate youth led climate action.  

How many of the statements given above are 
correct?  
a) Only one 
b) Only two 
c) All three 
d) None 
 
Q.41) In the context of National Bank for 
Financing Infrastructure and Development 
(NaBFID), consider the following statements: 
1. It provides short-term financing to the 

infrastructure sector in India. 
2. Its chairperson is appointed by the central 

government in consultation with the RBI. 
3. Its commercial decision-making is kept out 

of the purview of the CAG 
Which of the above given statements are 
correct?  
a) Only one 
b) Only two  
c) All three 
d) None 
 
Q.42) The National Payments Corporation of 
India (NPCI) plays a crucial role in the realm of 
digital payments in India, in this context , 
which of the following statement about NPCI 
is correct?  
a) It was established by the Reserve Bank of 

India for the operation of retail payment in 
India. 

b) It allows mobile banking transactions using 
with or without internet facility in the 
mobile. 

c) It regulates the digital payment and 
settlement system in India. 

d) It is promoted by the Domestic 
Systemically Important Banks only. 

  
 
 

Q.43) Which of the following statements 
regarding the United Payment Interface (UPI) 
is correct?  
a) Only peer-to-peer (P2P) transactions are 

possible through UPI.  
b) UPI retail international transactions can be 

done at free of cost. 
c) Singapore and Nepal are the only countries 

that have adopted UPI of India. 
d) It allows for both push-send money and 

pull-request money payment methods. 
 
Q.44) With reference to the Digital Banking 
Units (DBUs), consider the following 
statements: 
1. They provide physical digital banking 

infrastructure in self – service mode. 
2. They can be opened by Regional Rural 

Banks (RRBs) and Payment Banks (PBs). 
3. They can be opened in Tier-1 and Tier-2 

cities only. 
How many of the above statements are 
correct?  
a) Only one 
b) Only two 
c) All three 
d) None 
 
Q.45) In the Globalized world, Migrant laborers 
contribute significantly to the economies of 
both their host and home countries through 
their labor and the remittances they send 
back. Consider the following countries in 
respect of the ‘M  igration and Development 
Brief, 2023’ released by the World Bank:   
1. China 
2. India 
3. Philippines 
4. Mexico 
Arrange the above countries in descending 
order with respect to remittances received in 
2023 and select the correct answer using the 
code given below:  
a) 1-2-3-4 
b) 1-2-4-3 
c) 2-1-3-4 
d) 2-4-1-3 
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Q.40) ग्रीि राइनजंि पहि के बारे में निम्ननिखित कथिो ं

पर निचार करें : 

1.  यह संयुक्त राष्ट्र  पयाथिरण कायथक्रम (UNEP) की एक 

पहि है। 

2.  इसका िक्ष्य 2025 तक अफ्रीका के कम से कम 

आधे सहारा के्षि का ििीकरण करिा है। 

3.  यह युिाओ ं के िेतृत्व िािी जििायु कारथिाई को 

बढािे के निए सरकार, िािररक समाज संिठि और 

निजी के्षिो ंको एक साथ िाता है। 

ऊपर नदए िए कथिो ंमें से नकतिे सही हैं? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं

 

Q.41) िेशिि बैंक फॉर फाइिेंनसंि इंफ्रास्ट्र क्चर एंड 

डेििपमेंट (NaBFID) के संदभथ में, निम्ननिखित कथिो ं

पर निचार करें : 

1.  यह भारत में बुनियादी ढांचा के्षि को अल्पकानिक 

नित्तपोिण प्रदाि करता है। 

2.  इसके अध्यक्ष की नियुखक्त RBI के परामशथ से कें द्र 

सरकार द्वारा की जाती है। 

3.  इसके िानणखज्यक निणथय िेिे को CAG के दायरे से 

बाहर रिा िया है 

ऊपर नदए िए कथिो ंमें से कौि सा सही है? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं

 

Q.42) िेशिि पेमेंट्स कॉरपोरेशि ऑफ इंनडया 

(NPCI) भारत में नडनजटि भुिताि के के्षि में एक 

महत्वपूणथ भूनमका निभाता है, इस संदभथ में, NPCI के 

बारे में निम्ननिखित में से कौि सा कथि सही है? 

a)  इसकी स्थापिा भारत में िुदरा भुिताि के संचािि 

के निए भारतीय ररजिथ बैंक द्वारा की िई थी। 

b)  यह मोबाइि में इंटरिेट सुनिधा के साथ या उसके 

नबिा मोबाइि बैंनकंि िेिदेि की अिुमनत देता है। 

c)  यह भारत में नडनजटि भुिताि और निपटाि प्रणािी 

को नियंनित करता है। 

d)  इसे केिि घरेिू प्रणािीित महत्वपूणथ बैंको ं द्वारा 

प्रचाररत नकया जाता है। 

  

 

Q.43) यूिाइटेड पेमेंट इंटरफेस (UPI) के संबंध में 

निम्ननिखित में से कौि सा कथि सही है? 

a)  UPI के माध्यम से केिि पीयर-टू-पीयर (P2P) 

िेिदेि संभि है। 

b)  UPI िुदरा अंतरराष्ट्र ीय िेिदेि मुफ्त में नकया जा 

सकता है। 

c)  नसंिापुर और िेपाि एकमाि ऐसे देश हैं नजन्होिें 

भारत के UPI को अपिाया है। 

d)  यह पुश-सेंड मिी और पुि-ररिेस्ट् मिी भुिताि 

दोिो ंनिनधयो ंकी अिुमनत देता है। 

 

Q.44) नडनजटि बैंनकंि इकाइयो ं (DBUs) के संदभथ में, 

निम्ननिखित कथिो ंपर निचार करें : 

1.  िे स्व-सेिा मोड में भौनतक नडनजटि बैंनकंि 

बुनियादी ढांचा प्रदाि करते हैं। 

2.  इन्हें के्षिीय ग्रामीण बैंको ं (RRBs) और भुिताि बैंको ं

(Payment Banks; PBs) द्वारा िोिा जा सकता है। 

3.  इन्हें केिि नटयर-1 और नटयर-2 शहरो ंमें ही िोिा 

जा सकता है। 

उपरोक्त में से नकतिे कथि सही हैं? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं

 

Q.45) िैश्वीकृत दुनिया में, प्रिासी मजदूर अपिे श्रम 

और उनके द्वारा भेिे गए पे्रिण के माध्यम से अपिे 

मेजबाि और घरेिू दोिो ं देशो ं की अथथव्यिस्था में 

महत्वपूणथ योिदाि देते हैं। निश्व बैंक द्वारा जारी 

'माइगे्रशि एंड डेििपमेंट ब्रीफ, 2023' के संबंध में 

निम्ननिखित देशो ंपर निचार करें : 

1. चीि 

2. भारत 

3. नफिीपीसं 

4. मेखक्सको 

2023 में प्राप्त पे्रिण के संबंध में उपरोक्त देशो ं को 

अिरोही क्रम में व्यिखस्थत करें  और िीचे नदए िए कोड 

का उपयोि करके सही उत्तर चुिें: 

a) 1-2-3-4 

b) 1-2-4-3 

c) 2-1-3-4 

d) 2-4-1-3 

 

  

Page 14

https://academy.forumias.com/
mailto:admissions@forumias.academy
mailto:helpdesk@forumias.academy


PTS 2024 | Test Code : 111219 |  

Forum Learning Centre: Delhi - 2nd Floor, IAPL House, 19 Pusa Road, Karol Bagh, New Delhi - 110005   | Patna - 2nd floor, AG Palace, E Boring Canal 

Road, Patna, Bihar 800001   | Hyderabad - 1st & 2nd Floor, SM Plaza, RTC X Rd, Indira Park Road, Jawahar Nagar, Hyderabad, Telangana 500020 
9311740400, 9311740900 | https://academy.forumias.com | admissions@forumias.academy | helpdesk@forumias.academy 

Q.46) Which of the following is incorrect 
regarding e-Rupee launched by RBI?  
a)  It is exchangeable with fiat currency at par. 
b)  The holder of the e-Rupee must have bank 

account for transaction. 
c)  It would appear as a liability on a central 

bank’s balance sheet.  
d)  It must be accepted as medium of payment 

within the country. 
 

Q.47) In the event of economic recession, 
which of the following monetary policy 
measure the Reserve Bank of India (RBI) is 
most likely to take?  
a)  Increasing the repo rate 
b)  Increasing Cash Reserve Ratio 
c)  Lowering the reverse repo rate 
d)  Selling government securities in the open 

market 
 

Q.48) It is a short-term financial instrument 
that companies use to raise funds directly 
from the money market. These instruments 
are typically unsecured promissory notes with 
maturities ranging from fifteen days to a year. 
It can be issued by corporates, primary 
dealers, and financial institutions. 
Which of the following instrument is discussed 
in the above paragraph?  
a) Treasury Bills 
b) Corporate bonds  
c) Commercial Papers 
d) Municipal bonds 
 

Q.49) With reference to the monetary policy 
tool Quantitative easing (QE), which of the 
following option correctly describes the 
impact it has on the economy?  
a) Quantitative easing leads to increased 

interest rates 
b) Quantitative easing leads to strengthening 

the exchange rate of the country's 
currency.  

c) Quantitative easing leads to decreased 
investments and spending. 

d) Quantitative easing leads to inflation in 
the economy. 

  

 

Q.50) Ursid, sometimes seen in the news, is 
related to     which of the following? 
a) Large eruptions of plasma from the Sun 

that can disrupt the functioning of 
satellites.  

b) A type of meteor shower which occurs 
during winter solstice in the northern 
hemisphere. 

c) The propagation of light through space 
resulting from a star's sudden burst. 

d) A recently discovered exoplanet residing in 
the habitable zone of its host star.   

 
Q.51) With reference to Regional Rural Banks 
(RRBs), consider the following statements:  
1. The share capital of RRBs is contributed 

equally by the central and respective state 
governments. 

2. RRBs are only obligated to meet the Cash 
Reserve Ratio (CRR), not statutory liquidity 
Ratio (SLR) requirements.   

Which of the statements above are correct? 
a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2   
 

Q.52) Which of the following organisations 
publishes a Financial Stability Report in India? 
a) Department of Financial Services. 
b) Niti Aayog 
c) Reserve Bank of India 
d) National Statistical Office 
 

Q.53) With reference to macroeconomics, 
which of the following option best describes 
the situation of stagflation? 
a) A sustained decrease in the general price 

level of goods and services in an economy 
over time. 

b) A combination of slow economic growth 
and high inflation. 

c) A gradual decrease in the rate of inflation 
over time. 

d) The sustained and widespread increase in 
the price level of goods and services. 
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Q.46) RBI द्वारा िॉन्च नकए िए ई-रुपी के संबंध में 

निम्ननिखित में से कौि सा िित है? 

a)  यह सममूल्य पर नफएट मुद्रा के साथ निनिमय योग्य 

है। 

b)  ई-रुपी धारक के पास िेिदेि के निए बैंक िाता 

होिा चानहए। 

c)  यह कें द्रीय बैंक की बैिेंस शीट पर देिदारी के रूप 

में नदिाई देिा। 

d)  इसे देश के भीतर भुिताि के माध्यम के रूप में 

स्वीकार नकया जािा चानहए। 

 

Q.47) आनथथक मंदी की खस्थनत में, भारतीय ररजिथ बैंक 

(RBI) निम्ननिखित में से कौि सा मौनद्रक िीनत उपाय 

करिे की सबसे अनधक संभाििा है? 

a) रेपो रेट बढािा 

b) िकद आरनक्षत अिुपात बढािा 

c) ररिसथ रेपो दर को कम करिा 

d) सरकारी प्रनतभूनतयो ंको िुिे बाजार में बेचिा 

 

Q.48) यह एक अल्पकानिक नित्तीय साधि है नजसका 

उपयोि कंपनियां सीधे मुद्रा बाजार से धि जुटािे के निए 

करती हैं। ये उपकरण आम तौर पर पंद्रह नदिो ंसे िेकर 

एक ििथ तक की पररपिता अिनध िािे असुरनक्षत िचि 

पि होते हैं। इसे कॉरपोरेट्स, प्राथनमक डीिरो ं और 

नित्तीय संस्थािो ंद्वारा जारी नकया जा सकता है। 

उपयुथक्त अिुचे्छद में निम्ननिखित में से नकस उपकरण 

पर चचाथ की िई है? 

a) टर ेजरी नबि 

b) कॉपोरेट बांड 

c) िानणखज्यक पि 

d) ििरपानिका बॉण्ड 

 

Q.49) मौनद्रक िीनत उपकरण िांनटटेनटि इनजंि (QE) 

के संदभथ में, निम्ननिखित में से कौि सा निकल्प 

अथथव्यिस्था पर इसके प्रभाि का सही िणथि करता है? 

a)  िांनटटेनटि इनजंि से ब्याज दरो ंमें िृखि होती है 

b)  िांनटटेनटि इनजंि से देश की मुद्रा की निनिमय दर 

मजबूत होती है। 

c)  िांनटटेनटि इनजंि से नििेश और िचथ में कमी आती 

है। 

d)  िांनटटेनटि इनजंि से अथथव्यिस्था में मुद्रास्फीनत 

बढती है। 

  

 

 

Q.50) उनसथड (Ursid), जो कभी-कभी समाचारो ं में 

देिा जाता है, निम्ननिखित में से नकससे संबंनधत है? 

a)  सूयथ से प्लाज्मा का बडा निस्फोट जो उपग्रहो ं के 

कायु पिकत को बानधत कर सकता है। 

b)  एक प्रकार का उल्कापात जो उत्तरी िोिाधथ में 

शीतकािीि संक्रांनत के दौराि होता है। 

c)  नकसी तारे के अचािक फटिे से अंतररक्ष में प्रकाश 

का प्रसार। 

d)  हाि ही में िोजा िया एक एक्सोपै्लिेट अपिे 

मेजबाि तारे के रहिे योग्य के्षि में रहता है। 

 

Q.51) के्षिीय ग्रामीण बैंको ं (RRBs) के संदभथ में, 

निम्ननिखित कथिो ंपर निचार करें : 

1.  RRBs की शेयर पंूजी का योिदाि कें द्र और संबंनधत 

राज्य सरकारो ंद्वारा समाि रूप से नकया जाता है। 

2.  RRBs केिि िकद आरनक्षत अिुपात (CRR) को पूरा 

करिे के निए बाध्य हैं, िैधानिक तरिता अिुपात 

(SLR) आिश्यकताओ ंको िही।ं 

उपरोक्त में से कौि सा कथि सही है? 

a) केिि 1 

b) केिि 2 

c) 1 और 2 दोिो ं

d) ि तो 1 और ि ही 2 

 

Q.52) निम्ननिखित में से कौि सा संिठि भारत में 

नित्तीय खस्थरता ररपोटथ प्रकानशत करता है? 

a) नित्तीय सेिा निभाि। 

b) िीनत आयोि 

c) भारतीय ररजिथ बैंक 

d) राष्ट्र ीय सांखख्यकी कायाथिय 

 

Q.53) समनष्ट् अथथशास्त्र/मैक्रोइकॉिॉनमक्स के संदभथ में, 

निम्ननिखित में से कौि सा निकल्प सै्ट्िफे्लशि की 

खस्थनत का सबसे अच्छा िणथि करता है? 

a)  समय के साथ नकसी अथथव्यिस्था में िसु्तओ ं और 

सेिाओ ंके सामान्य मूल्य स्तर में निरंतर कमी। 

b)  धीमी आनथथक िृखि और उच्च मुद्रास्फीनत का 

संयोजि। 

c)  समय के साथ मुद्रास्फीनत की दर में क्रनमक कमी। 

d)  िसु्तओ ं और सेिाओ ं के मूल्य स्तर में निरंतर और 

व्यापक िृखि। 
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Q.54) With reference to inflation, consider the 
following situations: 
1. Drastic increases in wages and salaries of 

employees. 
2. Increase in input price of raw materials. 
3. Expansionary government policy.  
How many of the above situations given above 
are the causes of demand-pull inflation? 
a) Only one 
b) Only two 
c) All three 
d) None 
 
Q.55) With reference to Parliament Duty 
Group (PDG), consider the following   
statements:  
1. It is a special unit of the Delhi Police 

responsible for the security of Parliament 
House. 

2. It functions under the direct command of 
the Speaker of Lok Sabha. 

3. It comprises various officers and 
personnels from the Central Reserve 
Police Force (CRPF).  

How many of the statements given above are 
correct?  
a) Only one 
b) Only two 
c) All three 
d) None 
 
Q.56) With reference to money measurement, 
consider the following components: 
1. Currency in circulation. 
2. Demand deposits. 
3. Bankers' deposits with RBI. 
4. Time deposits. 
How many of the above components are part 
of Reserve Money (M0)?  
a) Only one 
b) Only two 
c) Only three 
d) All four  
 
Q.57) In the context of National Income 
Accounting, consider the following option: 
1.  Government purchases 
2.  Social security payment 
3.  Revenues generated by domestic 

corporations. 
Which of the above options form part of 
domestic territory under National income 
accounting?  

a) Only one 
b) Only two 
c) All three 
d) None 
 
Q.58) In the context of taxation mechanism in 
India, which of the following statement is 
correct?  
a) Secretary (Revenue) is the Ex-officio 

Secretary to the GST Council. 
b) Legal services provided to a business entity 

by MPs/MLAs is non-taxable under GST. 
c) All anti-profiteering complaints related to 

GST are dealt by the National Anti-
profiteering Authority (NAA). 

d) Integrated GST (IGST) is collected by the 
state government. 

 
Q.59) Consider the following statement in the 
context of taxation system: 
Statement 1: People with low income pay 
higher tax rates in a regressive taxation 
system. 
Statement 2: Securities transaction tax in 
India is an example of regressive tax. 
In the context of the above statements, which 
of the following option is correct?  
a) Both statement 1 and statement 2 is 

correct, and statement 2 is correct 
explanation of statement 1. 

b) Both statement 1 and statement 2 is 
correct, but statement 2 is not the correct 
explanation of statement 1. 

c) Statement 1 is correct but statement 2 is 
incorrect. 

d) Statement 1 is incorrect but statement 2 is 
correct. 

 
Q.60) Which one of the following best reflects 
the meaning of the term ‘biological invasion’ 
sometimes seen in the news? 
a) The rapid increase in population of a native 

species disrupting the balance of an 
ecosystem. 

b) Nation deliberately introducing a disease-
causing organism into another nation.  

c) The introduction of a non-native species 
into an ecosystem which has potent to 
harm the native ecosystem. 

d) The transmission of infectious diseases 
from animals to humans. 
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Q.54) मुद्रास्फीनत के संदभथ में, निम्ननिखित खस्थनतयो ंपर 

निचार करें : 

1. कमथचाररयो ंके मिदूरी और िेति में भारी िृखि। 

2. कचे्च माि के आित मूल्य में िृखि। 

3. सरकार की निस्तारिादी िीनत। 

ऊपर दी िई उपरोक्त खस्थनतयो ं में से नकतिी खस्थनतयााँ 

मांि-पे्रररत मुद्रास्फीनत के कारण हैं? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं

 

Q.55) पानिथयामेंट डू्यटी गु्रप (PDG) के संदभथ में, 

निम्ननिखित कथिो ंपर निचार करें : 

1.  यह संसद भिि की सुरक्षा के निए नजमे्मदार नदल्ली 

पुनिस की एक निशेि इकाई है। 

2.  यह िोकसभा अध्यक्ष के सीधे आदेश के तहत कायथ 

करता है। 

3.  इसमें कें द्रीय ररजिथ पुनिस बि (CRPF) के निनभन्न 

अनधकारी और कमी शानमि हैं। 

ऊपर नदए िए कथिो ंमें से नकतिे सही हैं? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं

 

Q.56) मुद्रा मापि (Money Measurement) के संदभथ 

में, निम्ननिखित घटको ंपर निचार करें : 

1. प्रचिि में मुद्रा। 

2. मांि जमा। 

3. बैंकरो ंकी RBI के पास जमा रानश। 

4. सािनध जमा। 

उपरोक्त में से नकतिे घटक आरनक्षत धि (M0) का 

नहस्सा हैं? 

a) केिि एक 

b) केिि दो 

c) केिि तीि 

d) सभी चार 

 

Q.57) राष्ट्र ीय आय िेिांकि के संदभथ में, निम्ननिखित 

निकल्प पर निचार करें : 

1. सरकारी िरीद 

2. सामानजक सुरक्षा भुिताि 

3. घरेिू नििमो ंद्वारा उत्पन्न राजस्व। 

उपरोक्त में से कौि सा निकल्प राष्ट्र ीय आय िेिांकि के 

तहत घरेिू के्षि का नहस्सा है? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं

 

Q.58) भारत में कराधाि तंि के संदभथ में, निम्ननिखित में 

से कौि सा कथि सही है? 

a)  सनचि (राजस्व) GST पररिद का पदेि सनचि है। 

b)  सांसदो/ंनिधायको ं द्वारा नकसी व्यािसानयक इकाई 

को प्रदाि की जािे िािी कािूिी सेिाएं GST के 

तहत कर योग्य िही ंहैं। 

c)  GST से संबंनधत सभी मुिाफािोरी-निरोधी 

नशकायतो ं का निपटारा राष्ट्र ीय मुिाफािोरी-निरोधी 

प्रानधकरण (National Anti-profiteering 

Authority; NAA) द्वारा नकया जाता है। 

d)  एकीकृत GST (IGST) राज्य सरकार द्वारा एकि 

नकया जाता है। 

 

Q.59) कराधाि प्रणािी के संदभथ में निम्ननिखित कथि 

पर निचार करें : 

कथन 1: कम आय िािे िोि प्रनतिामी कराधाि प्रणािी 

में उच्च कर दरो ंका भुिताि करते हैं। 

कथन 2: भारत में प्रनतभूनत िेिदेि कर प्रनतिामी कर 

का एक उदाहरण है। 

उपरोक्त कथिो ंके संदभथ में, निम्ननिखित में से कौि सा 

निकल्प सही है? 

a)  कथि 1 और कथि 2 दोिो ं सही हैं, और कथि 2 

कथि 1 का सही व्याख्या है। 

b)  कथि 1 और कथि 2 दोिो ंसही हैं, िेनकि कथि 2 

कथि 1 का सही व्याख्या िही ंहै। 

c)  कथि 1 सही है िेनकि कथि 2 िित है। 

d)  कथि 1 िित है िेनकि कथि 2 सही है। 

 

Q.60) निम्ननिखित में से कौि सा शब्द कभी-कभी 

समाचारो ं में देिे जािे िािे 'जैनिक आक्रमण 

(Biological Invasion)’ शब्द के अथथ को अच्छी तरह 

से दशाथता है? 

a)  नकसी मूि प्रजानत की जिसंख्या में तेजी से िृखि से 

पाररखस्थनतकी तंि का संतुिि बानधत हो रहा है। 

b)  राष्ट्र  जािबूझकर नकसी बीमारी पैदा करिे िािे जीि 

को दूसरे राष्ट्र  में प्रनिष्ट् करा रहा है। 

c)  नकसी पाररखस्थनतकी तंि में िैर-देशी प्रजानतयो ं का 

प्रिेश जो देशी पाररखस्थनतकी तंि को िुकसाि 

पहंुचािे की क्षमता रिता है। 

d)  जाििरो ंसे मिुष्यो ंमें संक्रामक रोिो ंका संचरण। 
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Q.61) Which of the following statement is 
correct regarding the ‘Aspirational Blocks 
Programme’?  
a) It aims to improve governance at the block 

level in the aspirational districts only. 
b) Uttar Pradesh, Bihar, West Bengal, and 

Odisha comprise of half of the blocks 
under this Programme. 

c) The blocks included in the scheme are 
given quarterly ranking based on their 
performance. 

d) The Blocks to be included under the 
scheme are chosen by NITI Aayog. 

 
Q.62) Consider the following statements about 
Shanghai Cooperation Organization (SCO): 
1. It was initially formed as a regional non-

permanent organization for combating 
threats of terrorism, separatism and 
radicalism. 

2. Iran is the only Middle Eastern country 
which is a permanent member of the SCO.  

3. Regional Anti-Terrorist Structure (RATS) is 
a permanent body of SCO. 

Which of the above given statements are 
correct?  
a) Only one 
b) Only two 
c) All three 
d) None 
 
Q.63) India recently hosted the G20 Summit in 
September 2023. In this context consider the 
following initiatives: 
1.  Global Biofuels Alliance. 
2.  India-Middle East-Europe Economic 

Corridor. 
3.  Partnership for Global Infrastructure 

Investment. 
4.  Tax Inspectors Without Borders. 
How many of the above initiatives were 
launched during the recent G20 summit? 
a) Only one 
b) Only two 
c) Only three 
d) All four 
 
Q.64) Consider the following statements about 
the Domestic Systemically Important Insurers 
(DSIIs) 
1. They are announced by the Reserve Bank of 

India based on their market size. 

2. Most of the regulatory norms are relaxed 
for companies identified as DSIIs. 

3. Currently, only the Life Insurance 
Corporation of India is identified as DSII in 
India. 

How many of the above given statements are 
correct? 
a) Only one 
b) Only two 
c) All three 
d) None 
 
Q.65) Consider the following statements 
regarding the Payments Infrastructure 
Development Fund (PIDF) scheme:  
1. It provides physical and digital payment 

devices for free to the beneficiaries to 
promote payment acceptance 
infrastructure in the     country.  

2. Contributions to the PIDF are mandatory 
for card-issuing banks and authorized 
card networks      . 

Which of the statements given above is/are 
correct? 
a) 1 only 
b) 2 only  
c) Both 1 and 2 
d) Neither 1 nor 2  
 
Q.66) Consider the following statements 
regarding Agricultural and Processed Food 
Products Export Development Authority 
(APEDA): 
1. It is a statutory body established under the 

Food Safety and Standards Act, 2006 
2. It works under the control of the Union 

Ministry of Ministry of Agriculture & 
Farmers' Welfare. 

3. It can carry out inspections in certain food 
processing plants to ensure the quality of 
the food products. 

How many of the above given statements are 
correct? 
a) Only one 
b) Only two 
c) All three 
d) None 
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Q.61) 'एखस्परेशिि ब्लॉक्स प्रोग्राम' के संबंध में 

निम्ननिखित में से कौि सा कथि सही है? 

a)  इसका उदे्दश्य केिि आकांक्षी नजिो ंमें ब्लॉक स्तर 

पर शासि में सुधार करिा है। 

b)  उत्तर प्रदेश, नबहार, पनिम बंिाि और ओनडशा में 

इस कायथक्रम के तहत आधे ब्लॉक शानमि हैं। 

c)  योजिा में शानमि ब्लॉको ं को उिके प्रदशथि के 

आधार पर िैमानसक रैं नकंि दी जाती है। 

d)  योजिा के तहत शानमि नकए जािे िािे ब्लॉको ंका 

चयि िीनत आयोि द्वारा नकया जाता है। 

 

Q.62) शंघाई सहयोि संिठि (SCO) के बारे में 

निम्ननिखित कथिो ंपर निचार करें : 

1.  शुरुआत में इसका िठि आतंकिाद, अििाििाद 

और चरमपंथ के ितरो ं से निपटिे के निए एक 

के्षिीय िैर-स्थायी संिठि के रूप में नकया िया था। 

2.  ईराि एकमाि मध्य पूिी देश है जो SCO का स्थायी 

सदस्य है। 

3.  के्षिीय आतंकिाद निरोधी संरचिा (Regional Anti-

Terrorist Structure; RATS) SCO का एक स्थायी 

निकाय है। 

ऊपर नदए िए कथिो ंमें से कौि सा सही है? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं

 

Q.63) भारत िे हाि ही में नसतंबर 2023 में G20 नशिर 

समे्मिि की मेजबािी की। इस संदभथ में निम्ननिखित 

पहिो ंपर निचार करें : 

1.  ग्लोबि बायोफू्यल्स एिायंस (Global Biofuels 

Alliance)। 

2.  भारत-मध्य पूिथ-यूरोप आनथथक िनियारा (India-

Middle East-Europe Economic Corridor) 

3.  िैनश्वक अिसंरचिा नििेश के निए साझेदारी 

(Partnership for Global Infrastructure 

Investment) 

4.  टैक्स इंसै्पक्टसथ निदाउट बॉडथसथ (Tax Inspectors 

Without Borders)। 

उपरोक्त में से नकतिी पहिें हाि ही में G20 नशिर 

समे्मिि के दौराि शुरू की िईं? 

a) केिि एक 

b) केिि दो 

c) केिि तीि 

d) सभी चार 

Q.64) ‘प्रणािीित रूप से महत्त्वपूणथ घरेिू बीमाकत्ताथ’  

(Domestic Systemically Important Insurers; 

DSII) के संदभथ में निम्ननिखित कथिो ंपर निचार करें  

1.  इिकी घोिणा भारतीय ररज़िथ बैंक द्वारा उिके 

बाज़ार आकार के आधार पर की जाती है। 

2.  DSII के रूप में पहचािी जािे िािी कंपनियो ं के 

निए अनधकांश नियामक मािदंडो ंमें ढीि दी िई है। 

3.  ितथमाि में, भारत में केिि भारतीय जीिि बीमा 

नििम को DSII के रूप में पहचािा जाता है। 

ऊपर नदए िए कथिो ंमें से नकतिे सही हैं? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं

 

Q.65) पेमेंट्स इंफ्रास्ट्र क्चर डेििपमेंट फंड (PIDF) 

योजिा के संबंध में निम्ननिखित कथिो ंपर निचार करें : 

1.  यह देश में भुिताि स्वीकृनत बुनियादी ढांचे को 

बढािा देिे के निए िाभानथथयो ंको मुफ्त में भौनतक 

और नडनजटि भुिताि उपकरण प्रदाि करता है। 

2.  काडथ जारी करिे िािे बैंको ं और अनधकृत काडथ 

िेटिकथ  के निए PIDF में योिदाि अनििायथ है। 

ऊपर नदए िए कथिो ंमें से कौि सा/से सही है/हैं? 

a) केिि 1 

b) केिि 2 

c) 1 और 2 दोिो ं

d) ि तो 1 और ि ही 2 

 

Q.66) कृनि और प्रसंसृ्कत िाद्य उत्पाद नियाथत निकास 

प्रानधकरण (APEDA) के संबंध में निम्ननिखित कथिो ंपर 

निचार करें : 

1.  यह िाद्य सुरक्षा और मािक अनधनियम, 2006 के 

तहत स्थानपत एक सांनिनधक निकाय है 

2.  यह कें द्रीय कृनि एिं नकसाि कल्याण मंिािय के 

नियंिण में काम करता है। 

3.  यह िाद्य उत्पादो ं की िुणित्ता सुनिनित करिे के 

निए कुछ िाद्य प्रसंस्करण संयंिो ं में निरीक्षण कर 

सकता है। 

ऊपर नदए िए कथिो ंमें से नकतिे सही हैं? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं
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Q.67) Consider the following statements about 

the Five-Year Plans (FYPs) in India: 

1. The first FYP was based on the Mahalanobis 

Plan. 

2. The Third FYP was the most successful 

among all the FYPs in terms of achieving its 

targets. 

3. Due to the failure of the fourth FYP, the 

government announced Plan holidays 

between 1966-69. 

How many of the above statements are 

correct? 

a) Only one 

b) Only two 

c) All three 

d) None 

 

Q.68) Consider the following reports/indices: 

1. Annual Status of Education Report  

2. Financial inclusion index 

3. All India Survey on Higher Education 

4. National Multidimensional Poverty Index 

How many of the above reports/ indices are 

published by NITI Aayog?  

a) Only one 

b) Only two 

c) Only three 

d) All four 

 

Q.69) With respect to the Nutrition based 

subsidy scheme (NBS), which of the following 

option is correct?  

a) Subsidized rates for fertilizers are based 

solely on the nutrients of Nitrogen, 

phosphorus, and Sulphur (N, P, & K). 

b) The subsidy on P&K fertilizers is 

announced by the Government five years 

once.  

c) It is implemented by the Ministry of 

Agriculture and Farmers Welfare. 

d) Urea-based fertilizers are excluded from 

the NBS scheme. 

  

Q.70) Which one of the following is correct in 

respect of eSoil, recently seen in the news?   

a) A digital platform for soil testing and crop 

recommendation. 

b) A soil that is treated using genetically 

modified soil bacteria.  

c) A digital soil map created through satellite 

imagery and ground data.  

d) An electrically conductive cultivation 

substrate in soilless farming.  

 

Q.71) Consider the following information:  

It is a crop insurance plan started in 2016. It 

gives financial support to farmers if their crops 

are damaged by natural disasters, pests, or 

diseases. The plan covers both kharif and rabi 

crops. Farmers pay a lower premium, and the 

government covers the rest. The Maximum 

Premium payable by the farmers will be 2% for 

all Kharif Food & Oilseeds crops, 1.5% for Rabi 

Food & Oilseeds crops and 5% for Annual 

Commercial/Horticultural Crops. Premium 

rates depend on the crop, location, and risk. 

Claims are settled within 30 days of assessing 

crop loss.  

Which of the following options correctly 

matches the scheme discussed above? 

a) PM Kisan Maandhan Yojana 

b) Soil Health Card Scheme 

c) Weather Based Crop Insurance Scheme 

(WBCIS) 

d) Pradhan Mantri Fasal Bima Yojana 

(PMFBY) 

 

Q.72) With reference to organic farming, 

consider the following statements: 

1. Only two states in India that have achieved 

100% organic farming. 

2. Certification of organic products in India 

can be done under the National 

Programme for Organic Production 

(NPOP).  

Which of the statements above is/are correct? 

a) 1 only 

b) 2 only 

c) Both 1 and 2 

d) Neither 1 nor 2   
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Q.67) भारत में पंचििीय योजिाओ ं (FYPs) के बारे में 

निम्ननिखित कथिो ंपर निचार करें : 

1.  पहिी पंचििीय योजिा महाििोनबस योजिा पर 

आधाररत थी। 

2.  तीसरी पंचििीय योजिा अपिे िक्ष्यो ंको प्राप्त करिे 

के मामिे में सभी पंचििीय योजिाओ ं में सबसे 

सफि रही। 

3.  चौथी पंचििीय योजिा की निफिता के कारण, 

सरकार िे 1966-69 के बीच योजिा अिकाश की 

घोिणा की। 

उपरोक्त में से नकतिे कथि सही हैं? 

a) केिि एक 

b) केिि दो 

c) तीिो ं

d) कोई िही ं

 

Q.68) निम्ननिखित ररपोटथ/सूचकांको ंपर निचार करें : 

1.  नशक्षा की िानिथक खस्थनत ररपोटथ (Annual Status of 

Education Report) 

2.  नित्तीय समािेशि सूचकांक (Financial inclusion 

index) 

3.  उच्च नशक्षा पर अखिि भारतीय सिेक्षण (All India 

Survey on Higher Education) 

4. राष्ट्र ीय बहुआयामी िरीबी सूचकांक (National 

Multidimensional Poverty Index) 

उपरोक्त में से नकतिी ररपोटथ/सूचकांक िीनत आयोि 

द्वारा प्रकानशत नकए िए हैं? 

a) केिि एक 

b) केिि दो 

c) केिि तीि 

d) सभी चार 

 

Q.69) पोिण आधाररत सखिडी योजिा (NBS) के 

संबंध में निम्ननिखित में से कौि सा निकल्प सही है? 

a)  उिथरको ंके निए ररयायती दरें  पूरी तरह से िाइटर ोजि, 

फास्फोरस और सल्फर (N, P, और K) के पोिक 

तत्वो ंपर आधाररत हैं। 

b)  P&K उिथरको ंपर सखिडी की घोिणा सरकार द्वारा 

पांच साि में एक बार की जाती है। 

c)  इसे कृनि और कृिक कल्याण मंिािय द्वारा 

कायाथखन्वत नकया जाता है। 

d)  यूररया आधाररत उिथरको ंको NBS योजिा से बाहर 

रिा िया है। 

  

Q.70) हाि ही में समाचारो ं में देिी िई ई सॉइि 

(eSoil)के संबंध में निम्ननिखित में से कौि सा सही है? 

a)  मृदा परीक्षण और फसि अिुशंसा के निए एक 

नडनजटि मंच। 

b)  ऐसी मृदा नजसका उपचार आिुिंनशक रूप से 

संशोनधत मृदा जीिाणुओ ं का उपयोि करके नकया 

जाता है। 

c)  उपग्रह इमेजरी और ग्राउंड डेटा के माध्यम से 

बिाया िया एक नडनजटि मृदा मािनचि। 

d)  मृदा रनहत कृनि में एक निद्युत प्रिाहकीय कृनि 

अधोस्तर। 

 

Q.71) कनम्नकलस्तखत िानकारी पर कवचार करें : 

यह 2016 में शुरू की गई एक फसल बीमा योिना है। 

यह ककसानोां को कवत्तीय सहायता देती है, यकद उनकी 

फसलें प्राकृकतक आपदाओां, कीटोां या बीमाररयोां से 

क्षकतग्रि हो िाती हैं। योिना में खरीफ और रबी दोनोां 

फसलें शाकमल हैं। ककसान कम प्रीकमयम का भुगतान 

करते हैं, और सरकार बाकी को कवर करती है। 

ककसानोां द्वारा देय अकिकतम प्रीकमयम सभी खरीफ खाद्य 

और कतलहन फसलोां के कलए 2%, रबी खाद्य और 

कतलहन फसलोां के कलए 1.5% और वाकिुक 

वाकणस्तिक/बागवानी फसलोां के कलए 5% होगा। 

प्रीकमयम दरें  फसल, थथान और िोस्तखम पर कनभुर करती 

हैं। फसल के नुकसान का आकलन करने के 30 कदनोां 

के भीतर दावोां का कनपटान ककया िाता है। 

कनम्नकलस्तखत में से क न सा कवकि ऊपर चचाु की गई 

योिना से सही ढांग से मेल खाता है? 

a) पीएम ककसान मानिन योिना 

b) मृदा स्वास्थ्य काडु योिना 

c) म सम आिाररत फसल बीमा योिना 

(डबू्ल्यबीसीआईएस) 

d) प्रिानमांत्री फसल बीमा योिना (पीएमएफबीवाई) 

 

Q.72) िैकवक खेती के सांदभु में कनम्नकलस्तखत कथनोां पर 

कवचार करें : 

1. भारत में केवल दो राि हैं, किन्ोांने 100% िैकवक 

खेती हाकसल की है। 

2. भारत में िैकवक उत्पादोां का प्रमाणीकरण राष्ट्र ीय 

िैकवक उत्पादन कायुक्रम (एनपीओपी) के तहत 

ककया िा सकता है। 

उपरोक्त में से क न सा/से कथन सही है/हैं? 

a) केवल 1 

b) केवल 2 

c) 1 और 2 दोनोां 

d) न 1 न 2 
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Q.73) With reference to agriculture subsidies 
provided by World Trade Organisation, 
consider the following pairs:   

Subsidy Category  Examples 

1. Green Box  Research and 
development 
(R&D) subsidies 

2. Amber Box  Export subsidies 

3. Red Box  Fertilizer subsidy 
to farmers. 

How many of the above pairs are correctly 
matched? 
a) Only one pair 
b) Only two pairs 
c) All three pairs 
d) None 
 
Q.74) With reference to different departments 
of the Ministry of Finance, which of the 
following option is correct?  
a) Department of Economic Affairs 

formulates & implements economic policy, 
and manages foreign exchange & debt. 

b) Department of Investment and Public 
Asset Management oversees & regulates 
banks, insurance companies, & capital 
markets. 

c) Department of Public Enterprises manages 
government investments & disinvestment 
of public enterprises. 

d) Department of Financial Services oversees 
performance & implements reforms in 
public sector undertakings. 

 
Q.75) Which of the following is not a member 
of the Organization of the Petroleum 
Exporting Countries (OPEC)? 
a) Angola 
b) Saudi Arabia 
c) United Arab Emirates (UAE).  
d) Iran 
 
Q.76) Consider the following statements with 
regard to the Code on Wages, 2019: 
1. Code provides for universal minimum 

wage for both organized and unorganized 
sectors. 

2. Under the code, the power to determine 
'floor wage' solely rests with the State 
Governments. 

Which of the statements given above is/are 
correct?  
a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2 
 
Q.77) Which one of the following statements 
best describes 'unemployment trap'?  
a)  A scenario where high inflation rates in the 

economy lead to higher levels of 
unemployment. 

b)  A situation where the opportunity cost of 
going to work is lower than the income 
received. 

c)  A condition where unemployment benefits 
encourage individuals to remain jobless. 

d)  A condition where a person is unable to get 
a job due to his/her low skills. 

 
Q.78) With regard to the Primary Agricultural 
Credit Societies (PACS), consider the following 
statements: 
1. They do not provide loans directly to the 

people. 
2. PACS provide short-term loans to 

borrowers. 
3. They are solely regulated by the Reserve 

Bank of India (RBI). 
How many of the statements given above are 
correct? 
a) Only one 
b) Only two 
c) All three 
d) None 
 
Q.79) With regard to the features of Hybrid 
Annuity Model, consider the following 
statements: 
1. During the project construction, the 

government will give 40% of the project 
Cost. 

2. The private developer has no right to 
collect tolls. 

3. The private developer is responsible for 
the maintenance of the project for a 
specific concession period. 

How many of the above statements are 
correct?  
a) Only one 
b) Only two 
c) All three 
d) None 
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Q.73) कवश्व व्यापार सांगठन द्वारा प्रदान की िाने वाली 

कृकि सस्तिडी के सांदभु में, कनम्नकलस्तखत युग्मोां पर कवचार 

करें : 

सस्तिडी शे्रणी उदाहरण 

1. ग्रीन बॉक्स अनुसांिान और कवकास 

(आर एां ड डी) सस्तिडी 

2. एम्बर बॉक्स कनयाुत सस्तिडी 

3. रेड बॉक्स ककसानोां को खाद 

सस्तिडी 

उपरोक्त में से ककतने युग्म सही सुमेकलत हैं? 

a) केवल एक युग्म 

b) केवल दो युग्म 

c) तीनोां युग्म 

d) कोई नही ां 

 

Q.74) कवत्त मांत्रालय के कवकभन्न कवभागोां के सांदभु में 

कनम्नकलस्तखत में से क न सा कवकि सही है? 

a) आकथुक मामलोां का कवभाग आकथुक नीकत बनाता 

और लागू करता है, और कवदेशी मुद्रा और ऋण का 

प्रबांिन करता है| 

b) कनवेश और सावुिकनक सांपकत्त प्रबांिन कवभाग बैंकोां, 

बीमा कां पकनयोां और पूांिी बािारोां की देखरेख और 

कवकनयमन करता है। 

c) सावुिकनक उद्यम कवभाग सरकारी कनवेश और 

सावुिकनक उद्यमोां के कवकनवेश का प्रबांिन करता 

है। 

d) कवत्तीय सेवा कवभाग, सावुिकनक के्षत्र के उपक्रमोां में 

प्रदशुन की कनगरानी करता है और सुिार लागू 

करता है। 

 

Q.75) कनम्नकलस्तखत में से क न पेटर ोकलयम कनयाुतक देशोां 

के सांगठन (ओपेक) का सदस्य नही ां है? 

a) अांगोला 

b) सऊदी अरब 

c) सांयुक्त अरब अमीरात (यूएई) 

d) ईरान 

 

Q.76) कोड ऑन वेिेज़, 2019 के सांबांि में कनम्नकलस्तखत 

कथनोां पर कवचार करें : 

1. सांकहता, सांगकठत और असांगकठत दोनोां के्षत्रोां के कलए 

सावुभ कमक नू्यनतम वेतन प्रदान करता है। 

2. सांकहता के तहत, 'फ्लोर वेि' कनिाुररत करने की 

शस्तक्त पूरी तरह से राि सरकारोां के पास है। 

ऊपर कदए गए कथनोां में से क न सा/से सही है/हैं? 

a) केवल 1 

b) केवल 2 

c) 1 और 2 दोनोां 

d) न तो 1 और न ही 2  

 

Q.77) कनम्नकलस्तखत में से क न सा कथन 'बेरोिगारी 

िाल' का सबसे अच्छा वणुन करता है? 

a) एक ऐसा पररदृश्य िहाां अथुव्यवथथा में उच्च 

मुद्रास्फीकत दर, बेरोिगारी के उच्च िर को िन्म 

देती है। 

b) ऐसी स्तथथकत िहाां काम पर िाने की अवसर लागत, 

प्राप्त आय से कम है। 

c) ऐसी स्तथथकत िहाां बेरोिगारी लाभ, व्यस्तक्तयोां को 

बेरोिगार रहने के कलए प्रोत्साकहत करते हैं। 

d) ऐसी स्तथथकत िहाां कोई व्यस्तक्त अपने कम क शल के 

कारण न करी पाने में असमथु होता है। 

 

Q.78) प्राथकमक कृकि ऋण सकमकतयोां (PACS) के सांबांि 

में, कनम्नकलस्तखत कथनोां पर कवचार करें : 

1. वे लोगोां को सीिे ऋण प्रदान नही ां करते हैं। 

2. PACS उिारकताुओां को अिकाकलक ऋण प्रदान 

करता है। 

3. वे पूरी तरह से भारतीय ररज़वु बैंक (RBI) द्वारा 

कवकनयकमत हैं। 

ऊपर कदए गए कथनोां में से ककतने सही हैं? 

a) केवल एक 

b) केवल दो 

c) तीनोां 

d) कोई नही ां 

 

Q.79) हाइकिड अनू्यइटी मॉडल (Hybrid Annuity 

Model) की कवशेिताओां के सांबांि में, कनम्नकलस्तखत कथनोां 

पर कवचार करें : 

1. पररयोिना कनमाुण के द रान सरकार पररयोिना 

लागत का 40% देगी। 

2. कनिी डेवलपर को टोल वसूलने का कोई अकिकार 

नही ां है। 

3. कनिी डेवलपर एक कवकशष्ट् ररयायत अवकि के कलए 

पररयोिना के रखरखाव के कलए किमे्मदार है। 

उपरोक्त में से ककतने कथन सही हैं? 

a) केवल एक 

b) केवल दो 

c) तीनोां 

d) कोई नही 
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Q.80) Consider the following statements 
regarding the Unified Payment Interface (UPI) 
Tap and Pay Facility: 
1. It was developed by the National Payments 

Corporation of India (NPCI).  
2. It enables contactless payments using 

Near Field Communication (NFC) 
technology on smartphones. 

3. It eliminates the need for entering PIN for 
any transactions. 

How many of the statements given above are 
correct?  
a) Only one 
b) Only two 
c) All three 
d) None 
 
Q.81) With regard to the Open Credit 
Enablement Network (OCEN), which of the 
following options is correct? 
1. It is developed by the National Payments 

Corporation of India (NPCI). 
2. It aims to replace the core banking solution 

of RBI known as E-Kuber 
Select the correct answer from the code given 
below: 
a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2 
 
Q.82) With reference to the National Family 
Health Survey (NFHS-5) data compared to 
NFHS-4 data, which of the following options is 
correct?  
a) Infant Mortality Rate has marginally 

increased in all of the states. 
b) The prevalence of overweight (aged 15-49) 

has declined in all states for both women 
and men. 

c) The sex ratio of the total population in the 
country has declined. 

d) Anemia among all women (aged 15-49) has 
increased in the country. 

 
Q.83) Consider the following energy sources: 
1. Thermal energy 
2. Renewable energy 
3. Hydro energy 
Which of the following options correctly 
represent increasing order of energy sources 

by their share in total energy production in 
India?  
a) 1-2-3 
b) 1-3-2 
c) 2-3-1 
d) 3-2-1 
 
Q.84) Consider the following statements 
regarding Indian Railways. 
1. It is the world's second-longest network in 

terms of length. 
2. It carries out nearly 50% of the overall 

freight transportation in India. 
Which of the statements given above is/are 
correct?  
a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2 
 
Q.85) “These clouds form near the Earth’s 
stratosphere and the occurrence of these 
clouds is often a sign of potential ozone 
depletion. They are widespread in Antarctica 
and form at temperatures below the ice frost 
point, typically below -85 degrees Celsius.”  
Which of the following clouds best expresses 
these features?  
a) Altostratus 
b) Nimbostratus 
c) Stratocumulus 
d) Nacreous 
 
Q.86) Consider the following statements with 
regard to the Logistics Ease Across Different 
States (LEADS) index, 2022: 
1. It employs the Logistics Performance 

Index (LPI) methodology, developed by the 
World Bank.  

2. It is published by Ministry of Road 
Transport & Highways. 

Which of the statements given above is/are 
correct?  
a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2 
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Q.80) यूकनफाइड पेमेंट इांटरफेस (UPI) टैप एां ड पे 

सुकविा के सांबांि में कनम्नकलस्तखत कथनोां पर कवचार करें : 

1. इसे नेशनल पेमेंट्स कॉरपोरेशन ऑफ इां कडया 

(NPCI) द्वारा कवककसत ककया गया था। 

2. यह स्माटुफोन पर कनयर फील्ड कमु्यकनकेशन 

(एनएफसी) तकनीक का उपयोग करके सांपकु रकहत 

भुगतान को सक्षम बनाता है। 

3. यह ककसी भी लेनदेन के कलए कपन दिु करने की 

आवश्यकता को समाप्त कर देता है। 

ऊपर कदए गए कथनोां में से ककतने सही हैं? 

a) केवल एक 

b) केवल दो 

c) तीनोां 

d) कोई नही ां 

 

Q.81) ओपन के्रकडट इनेबलमेंट नेटवकु (OCEN) के 

सांबांि में, कनम्नकलस्तखत में से क न सा कवकि सही है? 

1. इसे नेशनल पेमेंट्स कॉरपोरेशन ऑफ इां कडया 

(NPCI) द्वारा कवककसत ककया गया है। 

2. इसका उदे्दश्य आरबीआई के ई-कुबेर नामक कोर 

बैंककां ग समािान को प्रकतथथाकपत करना है 

नीचे कदए गए कोड से सही उत्तर चुनें: 

a) केवल 1 

b) केवल 2 

c) 1 और 2 दोनोां 

d) न तो 1 और न ही 2 

 

Q.82) एनएफएचएस-4 डेटा की तुलना में राष्ट्र ीय 

पररवार स्वास्थ्य सवेक्षण (एनएफएचएस-5) डेटा के 

सांदभु में, कनम्नकलस्तखत में से क न सा कवकि सही है? 

a) सभी रािोां में कशशु मृतु्य दर में मामूली वृस्ति हुई है। 

b) सभी रािोां में मकहलाओां और पुरुिोां दोनोां में अकिक 

विन (15-49 आयु वगु) की व्यापकता में कगरावट 

आई है। 

c) देश में कुल िनसांख्या के कलांगानुपात में कगरावट आई 

है। 

d) देश में सभी मकहलाओां (15-49 आयु वगु) में 

एनीकमया बढ़ गया है। 

 

Q.83) कनम्नकलस्तखत ऊिाु स्रोतोां पर कवचार करें : 

1. तापीय ऊिाु 

2. नवीकरणीय ऊिाु 

3. पनकबिली ऊिाु 

कनम्नकलस्तखत में से क न सा कवकि भारत में कुल ऊिाु 

उत्पादन में उनकी कहसे्सदारी के आिार पर ऊिाु स्रोतोां 

के बढ़ते क्रम को सही ढांग से दशाुता है? 

a) 1-2-3 

b) 1-3-2 

c) 2-3-1 

d) 3-2-1 

 

Q.84) भारतीय रेलवे के सांबांि में कनम्नकलस्तखत कथनोां पर 

कवचार करें । 

1. लांबाई के कहसाब से यह दुकनया का दूसरा सबसे लांबा 

नेटवकु है। 

2. यह भारत में कुल माल ढुलाई का लगभग 50% 

पररवहन करता है। 

ऊपर कदए गए कथनोां में से क न सा/से सही है/हैं? 

a) केवल 1 

b) केवल 2 

c) 1 और 2 दोनोां 

d) न तो 1 और न ही 2 

 

Q.85) “ये बादल पृथ्वी के समताप मांडल के पास बनते 

हैं और इन बादलोां की उपस्तथथकत अक्सर सांभाकवत 

ओिोन ररक्तीकरण का सांकेत होती है। वे अांटाकुकटका 

में व्यापक रूप से फैले हुए हैं और बफु के तुिार कबांदु 

(ice frost point) से नीचे के तापमान पर बनते हैं, 

आमत र पर -85 कडग्री सेस्तियस से नीचे। 

कनम्नकलस्तखत में से क न सा बादल इन कवशेिताओां को 

सबसे अच्छी तरह व्यक्त करता है 

a) आल्टोस्ट्र ेटस 

b) कनांबोस्ट्र ेटस 

c) स्ट्र ैटोयूम्यलस 

d) नैकक्रयस 

 

Q.86) कवकभन्न रािोां में लॉकिस्तस्ट्क्स ईि (LEADS) 

सूचकाांक (Logistics Ease Across Different States), 

2022 के सांबांि में कनम्नकलस्तखत कथनोां पर कवचार करें : 

1. यह कवश्व बैंक द्वारा कवककसत लॉकिस्तस्ट्क्स परफॉमेंस 

इांडेक्स (एलपीआई) पिकत को कनयोकित करता है। 

2. यह सड़क पररवहन और रािमागु मांत्रालय द्वारा 

प्रकाकशत ककया िाता है। 

ऊपर कदए गए कथनोां में से क न सा/से सही है/हैं? 

a) केवल 1 

b) केवल 2 

c) 1 और 2 दोनोां 

d) न तो 1 और न ही 

Page 26

https://academy.forumias.com/
mailto:admissions@forumias.academy
mailto:helpdesk@forumias.academy


PTS 2024 | Test Code : 111219 |  

Forum Learning Centre: Delhi - 2nd Floor, IAPL House, 19 Pusa Road, Karol Bagh, New Delhi - 110005   | Patna - 2nd floor, AG Palace, E Boring Canal 

Road, Patna, Bihar 800001   | Hyderabad - 1st & 2nd Floor, SM Plaza, RTC X Rd, Indira Park Road, Jawahar Nagar, Hyderabad, Telangana 500020 
9311740400, 9311740900 | https://academy.forumias.com | admissions@forumias.academy | helpdesk@forumias.academy 

Q.87) Consider the following statements with 
regard to the Public Private Partnership 
Appraisal Committee (PPPAC): 
1. It is responsible for managing 

disinvestment in India. 
2. The CEO of NITI Aayog is chairman of this 

Committee. 
Which of the statements given above is/are 
correct?  
a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2 
 
Q.88) With regard to the Guidotti–Greenspan-
International Monetary Fund rule, which of the 
following options is correct?  
a) It provides financial assistance to countries 

experiencing medium-term balance of 
payments problems. 

b) It determines the financial contributions 
and distribution of voting power at the IMF. 

c) It provides prompt financial assistance to 
any IMF member country facing an urgent 
balance of payments need. 

d) It states that a country's reserves should 
match short-term debt having a ratio of 
reserves-to-short term debt of one. 

 
Q.89) Which of the following best describes 
the function of Account Aggregator (AA)? 
a) It offers guidance on financial investments 

and wealth management to clients. 
b) It grants approval for financial dealings and 

transactions within established regulations. 
c) It enables seamless exchange of 

information among different financial 
entities securely. 

d) It verifies the accuracy of financial 
documentation and records through 
auditing. 

 
Q.90) Consider the following statements 
regarding the regulation of Credit rating 
agencies (CRAs) in India: 
1. They are an independent private entity that 

evaluates the creditworthiness of only 
government entities. 

2. They are regulated solely by the Reserve 
Bank of India (RBI). 

3. In India, they are under obligation to 
publicly disclose their rating criteria and 
methodology. 

How many of the statements given above are 
correct? 
a) Only one 
b) Only two 
c) All three 
d) None 
 
Q.91) With reference to Real Estate Investment 
Trusts (REITs), which of the following 
statements is correct?  
a) Individual investors must directly purchase 

commercial real estate to benefit from it. 
b) Dividends earned from Real Estate 

Investment Trusts (REITs) are tax-free. 
c) Offers higher liquidity compared to 

investments in physical real estate 
properties. 

d) Properties included in it are limited to 
residential complexes and apartments. 

 
Q.92) With reference to the Lab Grown 
Diamonds, consider the following statements: 
1. They can be produced by using high-

pressure, high-temperature processes 
only. 

2. They are chemically, physically, and 
optically the same as natural diamonds. 

Which of the statements given above is/are 
correct?  
a) 1 only 
b) 2 only 
c) Both 1 and 2 
d) Neither 1 nor 2 
 
Q.93) Consider the following agricultural 
products: 
1. Pulses  
2. Jute 
3. Sugarcane 
4. Wheat 
India is presently the world's leading producer 
of how many of the above agricultural 
products?  
a) Only one 
b) Only two 
c) Only three 
d) All four 
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Q.87) सावुिकनक कनिी भागीदारी मूल्याांकन सकमकत 

(पीपीपीएसी) के सांबांि में कनम्नकलस्तखत कथनोां पर कवचार 

करें : 

1. यह भारत में कवकनवेश के प्रबांिन के कलए किमे्मदार 

है। 

2. नीकत आयोग के सीईओ इस सकमकत के अध्यक्ष हैं। 

ऊपर कदए गए कथनोां में से क न सा/से सही है/हैं? 

a) केवल 1 

b) केवल 2 

c) 1 और 2 दोनोां 

d) न तो 1 और न ही 2 

 

Q.88) गाइडोटी-ग्रीनसै्पन-अांतराुष्ट्र ीय मुद्रा कोि कनयम 

(Guidotti–Greenspan-International Monetary 

Fund rule) के सांबांि में, कनम्नकलस्तखत में से क न सा 

कवकि सही है? 

a) यह मध्यम अवकि के भुगतान सांतुलन की समस्याओां 

का सामना करने वाले देशोां को कवत्तीय सहायता 

प्रदान करता है। 

b) यह आईएमएफ में कवत्तीय योगदान और मतदान 

शस्तक्त के कवतरण को कनिाुररत करता है। 

c) यह तत्काल भुगतान सांतुलन की आवश्यकता का 

सामना करने वाले ककसी भी आईएमएफ सदस्य देश 

को त्वररत कवत्तीय सहायता प्रदान करता है। 

d) इसमें कहा गया है कक ककसी देश का भांडार 

अिकाकलक ऋण से मेल खाना चाकहए, किसमें 

भांडार-से-अिकाकलक ऋण का अनुपात होना 

चाकहए 

 

Q.89) कनम्नकलस्तखत में से क न अकाउांट एग्रीगेटर (एए) 

के कायु का सबसे अच्छा वणुन करता है? 

a) यह ग्राहकोां को कवत्तीय कनवेश और िन प्रबांिन पर 

मागुदशुन प्रदान करता है। 

b) यह थथाकपत कनयमोां के तहत कवत्तीय 

व्यवहार(financial dealings) और लेनदेन के कलए 

मांिूरी देता है। 

c) यह कवकभन्न कवत्तीय सांथथाओां के बीच सुरकक्षत रूप से 

सूचनाओां के कनबाुि आदान-प्रदान को सक्षम बनाता 

है। 

d) यह ऑकडकटांग के माध्यम से कवत्तीय दिावेज़ीकरण 

और ररकॉडु की सटीकता की पुकष्ट् करता है। 

 

Q.90) भारत में के्रकडट रेकटांग एिेंकसयोां (सीआरए) के 

कवकनयमन के सांबांि में कनम्नकलस्तखत कथनोां पर कवचार 

करें : 

1. वे एक स्वतांत्र कनिी इकाई हैं, िो केवल सरकारी 

सांथथाओां की साख का मूल्याांकन करती है। 

2. इन्ें पूरी तरह से भारतीय ररज़वु बैंक (RBI) द्वारा 

कवकनयकमत ककया िाता है। 

3. भारत में, वे सावुिकनक रूप से अपने रेकटांग मानदांड 

और कायुप्रणाली को बताने के कलए बाध्य हैं। 

ऊपर कदए गए कथनोां में से ककतने सही हैं? 

a) केवल एक 

b) केवल दो 

c) तीनोां 

d) कोई नही ां 

 

Q.91) ररयल एसे्ट्ट इने्वस्ट्मेंट टर स्ट् (आरईआईटी) के 

सांदभु में, कनम्नकलस्तखत में से क न सा कथन सही है? 

a) व्यस्तक्तगत कनवेशकोां को इससे लाभ पाने के कलए 

सीिे वाकणस्तिक अचल सांपकत्त खरीदनी चाकहए। 

b) ररयल एसे्ट्ट इने्वस्ट्मेंट टर स्ट् (आरईआईटी) से 

अकिुत लाभाांश कर-मुक्त हैं। 

c) भ कतक ररयल एसे्ट्ट सांपकत्तयोां में कनवेश की तुलना 

में उच्च तरलता प्रदान करता है। 

d) इसमें शाकमल सांपकत्तयाां आवासीय पररसरोां और 

अपाटुमेंट तक सीकमत हैं। 

 

Q.92) प्रयोगशाला में कवककसत हीरोां के सांदभु में, 

कनम्नकलस्तखत कथनोां पर कवचार करें : 

1. इन्ें केवल उच्च दबाव, उच्च तापमान प्रकक्रयाओां 

का उपयोग करके उत्पाकदत ककया िा सकता है। 

2. वे रासायकनक, भ कतक और दृकष्ट्गत रूप से 

प्राकृकतक हीरे के समान ही हैं। 

ऊपर कदए गए कथनोां में से क न सा/से सही है/हैं? 

a) केवल 1 

b) केवल 2 

c) 1 और 2 दोनोां 

d) न तो 1 और न ही 2 

 

Q.93) कनम्नकलस्तखत कृकि उत्पादोां पर कवचार करें : 

1. दालें 

2. िूट 

3. गन्ना 

4. गेहूँ 

भारत वतुमान में उपरोक्त ककतने कृकि उत्पादोां का कवश्व 

का अग्रणी उत्पादक है? 

a) केवल एक 

b) केवल दो 

c) केवल तीन 

d) सभी चार 
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Q.94) Under which one of the following 
conditions the Gross Domestic Product (GDP) 
of India will be lower than its Gross Value 
Added (GVA)?  
a) If India’s reliance on imports increases.  
b) If inflation levels decrease in the economy.  
c) If the government provided subsidies 

more than its tax revenues.  
d) If the government collects more taxes 

than it spends on subsidies 
 
Q.95) Which of the following are the indicators 
of ‘Economic Recession’? 
1. High retail inflation 
2. General rise in demand 
3. Negative real Gross Domestic Product  
4. Falling Employment rates 
Select the correct answer using the codes 
given below: 
a) 1 and 2 only 
b) 3 and 4 only 
c) 2, 3 and 4 only 
d) 1, 3 and 4 only 
 
Q.96) A higher Incremental Capital Output 
Ratio (ICOR) value is not preferred for an 
economy because a higher ICOR indicates: 
a) production inefficiencies in the economy. 
b) recessionary tendencies in an economy. 
c) very high levels of inflation in the 

economy. 
d) jobless growth in an economy. 
 
Q.97) If tax to GDP ratio of a country is high, 
then which of the following is definitely true 
1. Production levels in a country increasing 

continuously. 
2. Tax rates in a country are high 
3. Tax base in the country is increasing 

continuously 
4. Government need to borrow money from 

the external markets. 
5. Income inequality is decreasing in the 

country. 
Select the correct answer from the code given 
below: 
a) 1, 2 and 4 only 
b) 2 and 4 only 
c) 3 and 5 only 
d) None 
 

Q.98) With reference to Indian economy, what 
is Landlord Port Model? 
a) In this model the port authority owns the 

land and all available assets like fixed and 
mobile and performs all regulatory and 
port functions. 

b) Publicly governed port authority acts as a 
regulatory body and landlord in this model 
while private companies carry out port 
operations. 

c) In this model port authority is entirely 
privatized with the public sector retaining 
standard regulatory oversight. 

d) In this model ports have almost entirely 
been privatized except for their ownership 
which remains public and often assumed 
as a majority shareholder. 

 
Q.99) Which one of the following statements is 
correct regarding ‘Purchasing Power Parity’? 
a) It is a measure of how much additional 

capital is needed to produce each extra 
unit of the output. 

b) It is a situation where bad effect of one 
economy spreads to another economy. 

c) It is a method used to compare the 
economic productivity and standards of 
living between countries. 

d) It is a process by which an innovative 
entrepreneur takes risks and introduces 
new technologies to stimulate economic 
activity. 

 
Q.100) Which of the following are the 
implications of high fiscal deficit in an 
economy? 
1. Increase in spending power of an individual 
2. Increase in interest rates in an economy 
3. Decline in prevailing inflation levels 
4. Increase in public investment and job 

growth 
Select the correct answer using the code given 
below: 
a) 1 and 2 only 
b) 2, 3 and 4 only 
c) 1, 2 and 4 only 
d) 1, 2, 3 and 4 
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Q.94) कनम्नकलस्तखत में से ककस स्तथथकत के तहत भारत का 

सकल घरेलू उत्पाद (िीडीपी) उसके सकल मूल्य वकिुत 

(िीवीए) से कम होगा? 

a) यकद भारत की आयात पर कनभुरता बढ़ती है| 

b) यकद अथुव्यवथथा में मुद्रास्फीकत का िर कम हो 

िाता है। 

c) यकद सरकार अपने कर रािस्व से अकिक सस्तिडी 

प्रदान करती है। 

d) यकद सरकार सस्तिडी पर खचु से अकिक कर एकत्र 

करती है 

 

Q.95) कनम्नकलस्तखत में से क न सा 'आकथुक मांदी' का 

सूचक है? 

1. उच्च खुदरा मुद्रास्फीकत 

2. माांग में सामान्य वृस्ति 

3. ऋणात्मक वािकवक सकल घरेलू उत्पाद 

4. कगरती रोिगार दरें  

नीचे कदए गए कूट का उपयोग करके सही उत्तर चुनें: 

a) केवल 1 और 2 

b) केवल 3 और 4 

c) केवल 2, 3 और 4 

d) केवल 1, 3 और 4 

 

Q.96) ककसी अथुव्यवथथा के कलए उच्च वृस्तिशील पूांिी 

आउटपुट अनुपात (higher Incremental Capital 

Output Ratio -ICOR) मूल्य को प्राथकमकता नही ां दी 

िाती है योांकक उच्च आईसीओआर इां कगत करता है: 

a) अथुव्यवथथा में उत्पादन अक्षमताएूँ | 

b) ककसी अथुव्यवथथा में मांदी की प्रवृकत्त। 

c) अथुव्यवथथा में मुद्रास्फीकत का बहुत उच्च िर। 

d) ककसी अथुव्यवथथा में रोिगारकवहीन वृस्ति। 

 

Q.97) यकद ककसी देश का कर-से-िीडीपी अनुपात 

अकिक है, तो कनम्नकलस्तखत में से क न सा कनकित रूप से 

सत्य है 

1. ककसी देश में उत्पादन िर का लगातार बढ़ना। 

2. ककसी देश में कर की दरें  अकिक होती हैं| 

3. देश में टैक्स बेस लगातार बढ़ रहा है| 

4. सरकार को बाहरी बाज़ारोां से िन उिार लेने की 

आवश्यकता है। 

5. देश में आय असमानता कम हो रही है| 

नीचे कदए गए कूट से सही उत्तर चुनें: 

a) केवल 1, 2 और 4 

b) केवल 2 और 4 

c) केवल 3 और 5 

d) कोई नही ां 

Q.98) भारतीय अथुव्यवथथा के सांदभु में, लैंडलॉडु पोटु 

मॉडल या है? 

a) इस मॉडल में पोटु अथॉररटी भूकम और सभी 

उपलब्ध सांपकत्तयोां िैसे चल और अचल का माकलक 

है, और सभी कनयामक और पोटु कायु करता है।  

b) सावुिकनक रूप से शाकसत बांदरगाह प्राकिकरण इस 

मॉडल में एक कनयामक सांथथा और भूकमस्वामी के 

रूप में कायु करता है िबकक कनिी कां पकनयाां 

बांदरगाह सांचालन करती हैं। 

c) इस मॉडल में बांदरगाह प्राकिकरण का पूरी तरह से 

कनिीकरण कर कदया गया है और सावुिकनक के्षत्र ने 

मानक कनयामक कनरीक्षण बरकरार रखा है। 

d) इस मॉडल में बांदरगाहोां का लगभग पूरी तरह से 

कनिीकरण कर कदया गया है, कसवाय उनके 

स्वाकमत्व के िो सावुिकनक रहता है और अक्सर 

बहुसांख्यक शेयरिारक के रूप में माना िाता है। 

 

Q.99) 'क्रय शस्तक्त समता' के सांबांि में कनम्नकलस्तखत में से 

क न सा कथन सही है? 

a) यह इस बात का माप है कक उत्पादन की प्रते्यक 

अकतररक्त इकाई का उत्पादन करने के कलए ककतनी 

अकतररक्त पूांिी की आवश्यकता है। 

b) यह वह स्तथथकत है िहाां एक अथुव्यवथथा का बुरा 

प्रभाव दूसरी अथुव्यवथथा तक फैलता है। 

c) यह देशोां के बीच आकथुक उत्पादकता और िीवन 

िर की तुलना करने के कलए उपयोग की िाने वाली 

एक कवकि है। 

d) यह एक ऐसी प्रकक्रया है किसके द्वारा एक नवोने्विी 

उद्यमी िोस्तखम उठाता है और आकथुक गकतकवकि को 

प्रोत्साकहत करने के कलए नई तकनीकोां को पेश 

करता है। 

 

Q.100) ककसी अथुव्यवथथा में उच्च रािकोिीय घाटे का 

कनम्नकलस्तखत में से क न सा कनकहताथु है? 

1. व्यस्तक्त की खचु करने की शस्तक्त में वृस्ति 

2. ककसी अथुव्यवथथा में ब्याि दरोां में वृस्ति 

3. म िूदा मुद्रास्फीकत के िर में कगरावट 

4. सावुिकनक कनवेश और न करी में वृस्ति 

नीचे कदए गए कोड का उपयोग करके सही उत्तर चुनें: 

a) केवल 1 और 2 

b) केवल 2, 3 और 4 

c) केवल 1, 2 और 4 

d) 1, 2, 3 और 4 
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